Question Paper Preview

Notations :
1.Options shown in green color and with % icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : Hindi Translator-cum-Assisstant
Creation Date : 2021-11-24 15:36:03
Duration : 120

Total Marks : 200

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

General Ability
Group Number : 1
Group Id : 967947111
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 967947111

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947133

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9679472223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anit, Bipin, Chand, Dev, Erum, Fahad, George and Huem are sitting equidistance around a square table facing towards

center in the same order in clockwise direction respectively.

If Fahad is facing East, In which direction Chand is facing?
Options :
1. % South

> % North



3« North-West

4 % North- East

Question Number : 1 Question Id : 9679472223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30, e, Te, 39, RE, TS AR 59 UF TeR A & IR SfEved ¥ F veew ¥
THEE g T A F g B IR HqE ek T FH A 95 g0 E

Ifg wEg & Hg 9 H WY g, A Tg w7 A7 o feew 7 gem?
Options :

| SHeyur

7 % Jea

3 v 3caR-9TeeH

, % IR

Question Number : 2 Question Id : 9679472224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the figure that most closely represents the given relationships.

Females, Cousins and Mothers
Options :



1:;.
2%.
3&@
4%@

Question Number : 2 Question Id : 9679472224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T 99 MW FT 994 FieT 7 TS T 397 F 9 89 FI Taicadd &7 ¥ g = 2
Afgare, Fo=, AT

Options :

1. ®

3. ¢

SRS



Question Number : 3 Question Id : 9679472225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two statements are given, followed by two conclusions numbered I. and II. Assuming the statements to be true, even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

statements.
A. All whales are birds.

B. All birds are fish.

Conclusions :
I Some fishes are whales.
II. All whales are fishes.
Options :

, = Only conclusion I follow.

» % Only conclusion II follows.

3« Both conclusion I and conclusion II follow.

4 % Neither conclusion I nor conclusion II follows.

Question Number : 3 Question Id : 9679472225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



r ®Ua A HR B few 71w &, fowss w1e o fossy | 3R 1l T 7T 81 Fuel i §eF A ge, o & 7
AT 9 T A9 9207 ¥ f@ea 999 29 &, f@ve fifew & Fiaany Ty Fuat & aifes & 3

HFEIUT HIAT g/ g
A. T g, et 2

B. mshr 9afr, #oer 2|
fors:

. o Ao, = &l
. wsfr =ger, Aofoar gl

Options :

| Faer Ay | HFEIOT LT

- Faer Ay || 3TEoT a2

3¥w1ﬁw}|aﬁ3ﬁgﬂtul FT 2l

7 dr sy | AR 7 & o 1| 1easor w2

4, %

Question Number : 4 Question Id : 9679472226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct conclusion that could be drawn from the given expression.

P>Q.R=S,Q>S,. T>R



Options :
| = Plsgreatest inall

> % Sisin middle of all

3 % Q is smaller than R

4 « R s smallest in all

Question Number : 4 Question Id : 9679472226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF T 0=t F AU T Hi9-37 Ty fSermer 31 gear 22

P>Q, R< S, @>S, T >R
Options :

|« P @E® ¥37

, % S 8 FET H AT
; « Q R & BT gl

4, v R T8 oI gl

Question Number : 5 Question Id : 9679472227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following alternatives will replace the question mark (?) in the given series?

267,268, 272,281, 297,72
Options :
1. % 329

Question Number : 5 Question Id : 9679472227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeredt & ¥ 37 gEw F Tua Hifev A FeF guer F gARET (?7) F TS WO GFar g

267, 268, 272, 281, 297, ?
Options :
| = 329
5 % 333
;% 323

4@ 322

Question Number : 6 Question Id : 9679472228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
From among the given letter clusters choose the one which fill in the question mark (?) in the following series to form a

logical sequence.

EZQ, IXS, MV, ?, URY, YPA
Options :
| % QSW

, x QWT
; v QTW

bx QY

Question Number : 6 Question Id : 9679472228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
37 e &7 99 Fifav 5% sew-aag & T gEar # gEeea () F W W W A4 H
QW FT Tk dlfeheh A HiHd 2|

EZQ, IXS, MVU, ?, URY, YPA
Options :

| % QSW

, % QWT

3. v QTW



4. % QTV

Question Number : 7 Question Id : 9679472229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, 'STUDENT' is written as *192021451420°. How will 'STUDIO' be written in that language?
Options :

1. % 19202141015

» % 1920204915
3« 1920214915
4 % 1920219415

Question Number : 7 Question Id : 9679472229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fe o1 & 'STUDENT' & '192021451420' for@r =ar &1 36 e amst & 'STUDIO' &t = forar
FTCT?

Options :

1= 19202141015
> = 1920204915
s v 1920214915

4, % 1920219415



Question Number : 8 Question Id : 9679472230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, BET' is written as ACDFSU. How will be ‘HEN” written in that language?
Options :

| % GIDFMP

» « GIDFMO
3 % GIDFMN

4. % GIDEMO

Question Number : 8 Question Id : 9679472230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Fc AT H ‘BET' # ACDFSU formm smar 81 38 % s 7 'HEN' &t &7 forgr smeem?
Options :
| % GIDFMP

, v GIDFMO
; % GIDFMN

4, % GIDEMO



Question Number : 9 Question Id : 9679472231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If

P+ Q means P is son of Q’

P - Q means * Pis father of O’

P x Q means * P is daughter of )’
P+ Q means * P is husband of Q°
ATCxD-E~+K

Which of the following is true forA+CxD-E + K?
Options :

1 ® AilssonofD

o % Dis father of A

3 « Eisuncle of A

4 % K is mother of A

Question Number : 9 Question Id : 9679472231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



afe

P+Q& 5¥g'P, Q& I7 ¢

P-Q# 3¢ P, Q&% Rar g

PxQ@& 7 g'P, Q& g ¢

P-Qa#ad g P, QHFm afd ¢

s A+ C xD-E+ K% ow @5 & & FiF @ sy F@@r gen?

Options :
A, D & 95 &l

1. %

, » D, A% Rar g

, v E A & SEI/AAVATEGSH

.« K AF A E

Question Number : 10 Question Id : 9679472232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Duck : Duckling : : Swan : ?
Options :
1. % Fawn



> # Kitten

3« Cygnet

4 % Cub

Question Number : 10 Question Id : 9679472232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 e &1 = Fifaw Fr fraY o ¥ 36U 9HR TElUT § 50 TR I e ugd g § matod
gl

§cdd  Tcd@ET ;g ?
Options :

1_%'.3{‘???'"'

2'33%???3'[

A EUCED

_ OereEeh
4.% 3

Question Number : 11 Question Id : 9679472233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.
Options :



7 # SUW
3. % HIL

4w NQS

Question Number : 11 Question Id : 9679472233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fwedr & T 71T 9R nR-uag & ¥ 39 e Afeg afF § w8 AR o s g sme
fereT &1 79 FifaT)

Options :

| % XZB
, % SUW
;= HJL

4 v NQS

Question Number : 12 Question Id : 9679472234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will replace the question mark (?) in the following figure series.

Problem Fig.
i
i 8| Gl | B ?
A B c D
Answer Fig.

Question Number : 12 Question Id : 9679472234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ok HTHfaaT (Answer Fig.) § & 30 FeT &1 997 HITSAT AT 99 HTHid (Problem Fig.) gf@erm #
TRARES (?) & T 9T 3T T B

Problem Fig.
18 Gl |81 | md | 2
A B C D
Answer Fig.
L 2 3 4
Options :
1. # 2
2.v 1
3 % 3
4.% 4

Question Number : 13 Question Id : 9679472235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third figure C in the same way as the second figure B is related to the first figure
A

Problem Fig.

@@?
&

A B
Answer Fig.

el

| 2 3 4

Options :
1. ¢ 1

Question Number : 13 Question Id : 9679472235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ccR AT (Answer Fig.) & & 37 e &7 997 ST AT 99 Hpiaar (Problem Fig.) & e
Hpfd C ¥ 38 ¥R FaUT g 58 TR ga@ll 3pfa B Tga 3efd A & HaoT ¢l

Problem Fig.

G0 |6

A B C [

Answer Fig.

[ellcitSlke

1 2 3 4

Options :
v 1

2_%2
3_%3

4.% 4

Question Number : 14 Question Id : 9679472236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following pairs of figures are alike in some way and one is different. Choose the odd one.

Answer Fig.

EREIRE

1 2 3 4

Options :



I

Question Number : 14 Question Id : 9679472236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe s 7 & &9 3R HFaam (Answer Fig.) fordt @ BT &9 & @919 § 3R & 399 g1 3@9d
3cak HTHId (Answer Fig.) T 90« HIaC|

Answer Fig.

A |l [

1 2 3 4

Options :
v 1

Question Number : 15 Question Id : 9679472237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Three of the following pairs of figures are alike in some way and one is different. Choose the odd one.

Answer Fig,

2 | O

I 2

]
F =Y

Options :
1 % 1

2. % 2

3.4 3

4.% 4

Question Number : 15 Question Id : 9679472237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fes § & diF 3o’ Haar (Answer Fig.) fFdT @ BT &9 & @919 § 3R Us HE9T &1 3@9T
3cak HTHId (Answer Fig.) & =0 ST

Answer Fig.

2z | W

I 2 3 4
Options :




Question Number : 16 Question Id : 9679472238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will replace the question mark (?) in the following series?

289,314, 357,358, 7
Options :
1. ® 379

2. ¢ 37

Question Number : 16 Question Id : 9679472238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faereat & & 12 FlF o T P Y@en # wRARES (?) F TUH T AT Tohd! 22

289, 314, 337, 358, ?




Options :
| % 379

5 377
3 % 365

4 % 389

Question Number : 17 Question Id : 9679472239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All the numbers in the following series follow a logical sequence and one is different. Find the wrong number?

1021, 1062, 1103, 1146, 1185, 1226
Options :

1. % 1062

> % 1103

3 « 1140

4 % 1226

Question Number : 17 Question Id : 9679472239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frrafaf@a 4o & frdt ve &1 Sisa 3= dEa B e s ganr ve aifed FH F aees
FAT &1 37 Ioid HEAT T 9gHT HIT=AT|

1021, 1062, 1103, 1146, 1185, 1226
Options :
| % 1062

, % 1103
;v 1146

4, % 1226

Question Number : 18 Question Id : 9679472240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the number sequence below and choose which pair of numbers from the given alternatives will come next?

(5,25, 125, 625)
Options :

| % 7.49, 149, 449
5 % 416, 64,320

3 o 981,729, 6561

4 % 636,216,222



Question Number : 18 Question Id : 9679472240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A= BT T gE agwammmﬁaﬁ?ﬁ'@mﬁﬁq‘iﬁﬁm & IIA F =TT L FAT HE
HTTIT?

(5, 25, 125, 625)
Options :
% 7, 49, 149, 449

, x 4, 16, 64, 320
. v 9, 81, 729, 6561

4 % 6, 36, 216, 222

Question Number : 19 Question Id : 9679472241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following numbers are alike in a certain way and one is different. Pick the odd one out.
Options :

1. % 1320



Question Number : 19 Question Id : 9679472241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr 7 & i dET R G @ I9E # W ¢ AN UF HEIT g1 HEIT HEA-IIH F A0
HITAT

Options :

% 1320

5 @ 2172
s % 3360

, = 4896

Question Number : 20 Question Id : 9679472242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives, choose an approximate value which would replace x in the given expression.

40.56 + 45.98 + 30.65 +4x = 230
Options :
1. ® 29.45

5 & 28.2025



Question Number : 20 Question Id : 9679472242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A =0sts 1 Jdfod Fa F T x F owner A7 #1939 fEed # 7 Hifaw)

40.56 + 4598 + 30.65 +4x = 230

Options :
1 = 2945
, v 282025
3 = 31.45
4 % 32.68

General Awareness
Group Number : 2
Group Id : 967947112
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness



Section Id : 967947112

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 967947134
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679472243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Govt. of India launched 'Jal Jeevan Mission' in October 2021, to provide safe and adequate drinking water through individual household tap
connections by year to all households in rural India.

Options :
1. ¥ 2024
2. % 2030
3. % 2028
4. = 2035

Question Number : 21 Question Id : 9679472243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TRBR SRS 2021 F ATH0T YR § i srari F I HfGTd B T BRI o H1ed I JRf&d SR gafe vaera
IS P & o8 5T sita o= uRY faan

Options :

1. ¥ 2024

2. % 2030

3. % 2028

4. % 2035




Question Number : 22 Question Id : 9679472244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which scheme launched in April 2021 by Govt. of India for reformative step towards establishment of clear ownership of property in rural
inhabited (Abadi) areas by mapping?

Options :

1. ¥ MALIKANA HAQ

2. # MERI BHUMI

3. ¥ SVAMITVA

4. ¥ ABADI BHUMI

Question Number : 22 Question Id : 9679472244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TR 7 30, 2021 & T ©19-T A1 URH &Y, oIt Ie¥g dereu- R gR1 JrHtor Sarfig (3mare) &= # Jufy & Wy
TTHE D1 R DT G & GURTHAS I8 HRAT 82

Options :

1. % HIfeIH™I 8P (MALIKANA HAQ)
2. # TR Yy (MERI BHUMI)

3. ¢ WIHd (SVAMITVA)

4. % 3{I€TCT Y (ABADI BHUMI)

Question Number : 23 Question Id : 9679472245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the group of states where the 'Karma' folk dance performed -
Options :

1. # Kerala, Tamil Nadu, Karnataka, Andhra Pradesh

2. # Assam, Meghalaya, Manipur, Nagaland, Tripura

3. ¢ Jharkhand, Chhattisgarh, Madhya Pradesh, Bihar

4. % Rajasthan, Gujarat, Punjab, Haryana



Question Number : 23 Question Id : 9679472245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISl & I T DI UgdH B, STal HRAT AdhId (bl Sl g |
Options :

1. % IR, AT, Hfed, iy U

2. % W, HETed, HIOR, AT, AgRT

3. ¥ PRTS, TG, 9 Uew, fagR

4, % SR, ORI, USTTe, §RATOT

Question Number : 24 Question Id : 9679472246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the four places where the famous religious festival 'Kumbh Mela' is held in India -
Options :

1. # Prayagraj, Rishikesh, Nashik and Puri

2. # Patna, Haridwar, Pune and Ujjain

3. % Prayagraj, Haridwar, Nashik and Mathura

4. ¥ Prayagraj, Haridwar, Nashik and Ujjain

Question Number : 24 Question Id : 9679472246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H I IR R &1 U8 $x, Tl kG UTTHS Id GH AT BT SATATo fobal Sa g |
Options :

1. % TOVRIS, B¥6w, TR 3R g

2. % e, TRERT, gOT 3R I=id

3. % JONRIS, 8RgR, AR 3R 7YRT

4. ¢ TR, BRERT, RIS 3R oo




Question Number : 25 Question Id : 9679472247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which folk artist was called 'The Voice of Jaisalmer Fort', who died in 2021?
Options :

1. ¥ Dapu Khan Merasi

2. % Kachra Khan

3. # Sabar Koti

4. % Pammi Bai

Question Number : 25 Question Id : 9679472247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A FATHR DI T AT T AIAER IS HeT T, ! gog 2021 A g2
Options :

1. ¢ QY G HRE

2. % HERTEH

Question Number : 26 Question Id : 9679472248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ruler of Nanda Dynasty was defeated by Chandragupta Maury and laid the foundation of the Maurya Dynasty?
Options :

1. # Bhutapala Nanda

2. ¥ Mahapadma Nanda

3. ¥ Dhana Nanda

4. % Govishanaka Nanda

Question Number : 26 Question Id : 9679472248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

¢ XTSI & o W 1 IS AR A URIfoTd T R Hid a1 &t AT 12
Options :

1. % HTUld &g

2. % QUL g

3. ¢ YT

4. % MATFTD -

Question Number : 27 Question Id : 9679472249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Pindari War fought?
Options :

1. % 1811-12

2. % 1814-15

3.4 1817-18

4, % 1822-23

Question Number : 27 Question Id : 9679472249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USRI g hd ST T

Options :

1. % 1811-12

2. % 1814-15

3.9 1817-18

4, % 1822-23

Question Number : 28 Question Id : 9679472250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 'Kiriburu' mines is famous for mineral in India.



Options :

1. ¥ Iron ore

2. % Coal

3. ¥ Manganese

4. % Copper

Question Number : 28 Question Id : 9679472250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRIH e wes | wfRe & R uRis Bl
Options :

1. ¢ TG SRRD

2. % DI

3. % W

4. % qia

Question Number : 29 Question Id : 9679472251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the height of the world's tallest rail bridge being built on the Chenab River in Jammu and Kashmir?
Options :

1. % 355 Metres

2. ¥ 359 Metres

3. #® 365 Metres

4. ® 367 Metres

Question Number : 29 Question Id : 9679472251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST HRER H 1 e TR 99 36 f9Y & 969 Sd X Jd &1 $aTs o1 87

Options :



1. % 355 e
2. ¥ 359 Hie}
3. % 365 AR
4. % 367 Wi}

Question Number : 30 Question Id : 9679472252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Bank for Agriculture and Rural Development (NABARD) came into existence in the year
Options :

1. ¥ 1982

2. % 1992

3. % 1987

4, % 1998

Question Number : 30 Question Id : 9679472252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIST B SR AT faHT™ d&F (NABARD) TN H o & s
Options :

1. ¥ 1982

2. % 1992

3. % 1987

4. % 1998

Question Number : 31 Question Id : 9679472253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government of India introduce the New Industrial Policy in to start liberalizing the Indian economy.

Options :
1. ¥ 1991



2. % 1992
3. % 1993
4. % 1994

Question Number : 31 Question Id : 9679472253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA IRBR - HRATT IR BT SGRIHIVT L= B o [o1T o 93 e fifa T 1|
Options :

1. ¥ 1991

2. % 1992

3. %1993

4. % 1994

Question Number : 32 Question Id : 9679472254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum production expected in the next 5 years in India as a result of the Production-Linked Incentive (PLI) scheme?
Options :

1. % INR 500 Million

2. # US$ 500 Million

3. * INR 500 billion

4.+ USS$ 500 billion

Question Number : 32 Question Id : 9679472254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MM feigs afed (PLI) TSI & IRUMRGEY YAdH IdTe AT 5 I8 § fd=r 3o g2
Options :

1. % INR 500 fofera

2. % US$ 500 ffera




3. % INR 500 foferam
4. ¥ US$ 500 fafera

Question Number : 33 Question Id : 9679472255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Constituent Assembly set up committees for framing the Indian constitution including a Drafting Committee.
Options :

1.+ 13

2. % 07

3. % 15

4. % 08

Question Number : 33 Question Id : 9679472255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I qUT YR W3y & wu <A & fog meiier afifa afgd A &t RO ST
Options :

1. ¥ 13

2. % 07

3. % 15

4. % 08

Question Number : 34 Question Id : 9679472256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Constitutional Body has been constituted under Article 280 of the Constitution of India?
Options :

1. % Goods and Service Tax Council

2. % UPSC and State Public Service Commission

3. ¥ Finance Commission

4. % Election Commission of India



Question Number : 34 Question Id : 9679472256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT HAU™ & 3Jdg 280 o d8d MHARad H 3 [ JauTe Fer &1 16+ fovdr a1 82
Options :

1. % 89 U8 9idy ¢ HIefd

2. % UPSC 3R IT dles a1 ST

3.  fad SmanT

4. % YR TG AR

Question Number : 35 Question Id : 9679472257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Government of India launched the Stand Up India scheme in
Options :

1. % 2014

2. % 2015

3. ¥ 2016

4. % 2017

Question Number : 35 Question Id : 9679472257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA WHR A LS U fSq T HURH DI
Options :

1. ® 2014

2. % 2015

3. ¥ 2016

4. % 2017




Question Number : 36 Question Id : 9679472258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Articles in Part XI of the Constitution of India deal with the Legislative relations between Central and State.
Options :

1. % 228 t0 239

2. % 21210227

3. % 26810293

4. ¥ 245 to 255

Question Number : 36 Question Id : 9679472258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAG IRYM F UFTXI P 3gRe |, $H3 3R I & s e Jeieh @ Jefda ||
Options :

1. % 2289239

2. % 2129227

3. % 2687293

4. 2459 255

Question Number : 37 Question Id : 9679472259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which are the two new teams participating in Indian Premier League (IPL), 20227
Options :

1. # Kochi and Ahmedabad

2. # Pune and Lucknow

3. ¥ Ahmedabad and Pune

4. ¥ Ahmedabad and Lucknow

Question Number : 37 Question Id : 9679472259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e HPRR &7 (1PL), 2022 H HIT & €T &1 78 ¢H -1 82
Options :

1. % Pifed 3R EHEEIG

2. % 0T 3R q@S,

3. % JBHGIEIE 3R Ol

4. ¥ MGHCIEIG 3R TLTS

Question Number : 38 Question Id : 9679472260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the highest sports award in India? (As October, 2021)
Options :

1. #® Rajiv Gandhi Khel Ratna Award

2. % Major Dhyan Chand Khel Ratna Award

3. # Arjun Khel Ratna Award

4. ® Dronacharya Khel Ratna Award

Question Number : 38 Question Id : 9679472260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H Hale Wl [REPR (3FCeR, 2021 Teh) BIH-HI 82
Options :

1. % roitd e Wel Id RIPR

2. ¢ AR &M d¢ Wd Id YIPR

3. % 39 WA 3d REBR

4. % UMY WA Yd RIBR

Question Number : 39 Question Id : 9679472261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tomato products are rich sources of folate, potassium and
Options :

1. % Vitamin A

2. % Vitamin C

3. ® Vitamin D

4. ® Vitamin E

Question Number : 39 Question Id : 9679472261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THICR & TG Bide, TR iR F IR AR
Options :

1. % faerfed A

2. ¢ faerfiF ¢

3. % faerfi[ D

4. % fqefi E

Question Number : 40 Question Id : 9679472262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which continent is the 'Alpaca’ animal (Camel Family) found from following?
Options :

1. % Asia

2. # Europe

3. # Africa

4. ¥ South America

Question Number : 40 Question Id : 9679472262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad A fg AeTgiu § '3icureT SHaR (e USiia) Ul SiTdT g2

Options :



1. % TR

2. % RY

3. % 3]

4.  SI&OT AR

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 9679472263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Arithmetic Ability

3
967947113
0

0

No

No

0

20

No

Arithmetic Ability

967947113
1

Online
Mandatory
20

20

20

Yes

1
967947135
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 33

Solve: 49 — x —
99 49

Options :

iy
3

Question Number : 41 Question Id : 9679472263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
492 x = 7 I AT F|
99 49
Options :
1

3=

1% 3



33-

Question Number : 42 Question Id : 9679472264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different containers have milk amounting to 204 litres, 1190 litres and 1445 litres respectively. Find the biggest
measure that can measure all the different quantities exactly.
Options :
1 ® 13 litres

7« 17 litres
3 # 19 litres

4 % 23 litres

Question Number : 42 Question Id : 9679472264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dieT gaal #F Eer 204 wex, 1190 #ex 3R 1445 &fex gy €1 98 §e® 937 A AT Hiae i @
fafeesr At @ gurdT: AT TF

Options :

1% 13 aeT

) v 17 X
3 % 19 #eT



4. % 23 oired

Question Number : 43 Question Id : 9679472265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
We getg when a number with two digits is divided by the number with its digits interchanged. If the sum of the digits
of the number is 9, find the original number.
Options :
1 ® 18

Question Number : 43 Question Id : 9679472265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST 3 HY TH TEAT F 5HE I BT H TSN A W T FEA F AT S W FH - I g
g I TEAr F I F AT 9 §, A T TEAT FT A2

Options :
| % 18

2w 27



3 « 36

4 % 45

Question Number : 44 Question Id : 9679472266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following numbers which one is exactly divisible by 337
Options :

1. % 12039754

5 % 13298760
3 v 15442416

4. % 16498203

Question Number : 44 Question Id : 9679472266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
33 ¥ 9Ur w9 ¥ fsnfaa @ et wew A 7 @ sladr 2

Options :
| % 12039754

). % 13298760

s v 15442416



4 = 16498203

Question Number : 45 Question Id : 9679472267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Difference between two numbers is 1440. If the difference between 12.5% of 1st number and 7.5% of the second

number is 334, find what is 10% of the larger of the two numbers.
Options :
| v 452

5 % 480

Question Number : 45 Question Id : 9679472267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar Tt F HAT 1440 ¥ TG TgeT @Ew F 12.5% 3R @l T F 7.5% F HR 334 &, A g
H ¥ a8 g&ar &1 10% fgar gem?

Options :
| v 452
5 % 480

s % 345



4 % 370

Question Number : 46 Question Id : 9679472268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of ¥ 1580 is distributed between A. B and C. If each had received 60 less, their shares would have been in
the ratio 2:5:7. Find the original share received by B.

Options :

1 ® T500

7 « T560
3 # 20640
4 % T720

Question Number : 46 Question Id : 9679472268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3T C & &/ 7 1580 Fr ofer foafa & =t &1 3T 93+ =1 60 7 9r=g gar ar 3 f=m
2:5:7 & 39 H g1 B & 9red 7o fewwr w9 A

Options :
| % % 500

5 v % 560

3 % % 640



4% T 720

Question Number : 47 Question Id : 9679472269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a pen is sold for T 34.40, the seller earns a profit of 7.5%. If the pen is sold for 2 30.40, what would be the profit
or loss percentage?
Options :
| % 5% profit

7« 5% loss
3 % 2.5% profit
4 % 2.5% loss

Question Number : 47 Question Id : 9679472269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F9 TH OF FY 234.40 FH =7 A1 ¢, A AT Fr 7.5% w1 a7 @iar g1 Iy 97 2 30.40 F a=h I
g, ar amer I @i 9feerT = gem?

Options :
| % 5% =H

. » 5% #fa

3 % 2.5% @S



4w 2.5% @it

Question Number : 48 Question Id : 9679472270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A loan was taken at a certain percent SI p.a for 3 years, had it been loaned for 4% p.a SI more for the same period, it

would have fetched #3648 more. Find the sum loaned.
Options :
1. ® T30120

5 & % 30400
3 % %30640

4 % % 30800

Question Number : 48 Question Id : 9679472270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I & v vk Af¥ag a1 grumor s 9iged X 9X Ue KT R T on 3fe =9 39 ey
F T 4% 9fa a¥ FreRer sars &7 9X oA Sar ar 7 3648 €fee wreg gan Hor ufer Ag A
Options :

| % % 30120

» » T 30400

s % % 30640



4 % T 30800

Question Number : 49 Question Id : 9679472271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A contractor agrees to complete a work in 50 days. He employs 80 men per day for 40 days and 20 more for the
remaining days to complete the work on time. Had he not employed the additional men how many days behind schedule
would have the work been completed?

Options :

li days

1. %

3
~1- days
2. ® 4

1
2~ days
3.¢¥ 2

1
3- days
4. % 3

Question Number : 49 Question Id : 9679472271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SHER THh FI & 50 AT §# W o & T Tead 81 98 &7 H TAT W W A & o 40
feat o= 9fr R 80 ot 3R 9w fowt 7 20 fafera oWl & &/ W o#mar g1 3fe sua sifafed
qEST T HHA W AL AT @A At F eifa #Hw ¥ fhaw e ae 9@ gar?

Options :




2> &

3. 2

sgﬂ?r

Question Number : 50 Question Id : 9679472272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two cars travel between two cities A and B at 48kmph and 56kmph. If one car takes one hour more than the other car to
cover the distance, find the distance between cities A and B.

Options :

1 % 320km

7 « 336 km
3 # 358 km
4 % 374 km

Question Number : 50 Question Id : 9679472272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ar FW T M A HR B & &= 48 kmph 3R 56 kmph & are ¥ I HT g1 I TH FR AT U
F A AT FR T UF "eT AHOF AT g, O & A HR B F 7 g A9 HfAT

Options :

| % 320 km

5« 336 km
; % 358 km

4 % 374 km

Question Number : 51 Question Id : 9679472273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are 3 sections A, B and C in class 8 of a school with 36, 40 and 42 students respectively. The average weights of

students of these three sections are 40 kg, 42 kg and 39 kg respectively. Find the average weight of class 8 students.

(rounded off to two decimal places)
Options :

| = 4124kg

) v 4032kg

s % 39.98kg

4 % 38.75kg

Question Number : 51 Question Id : 9679472273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UF Tl o FT 8 H 3 WS A, B 3R C § = FHw 36, 40 IR 42 T §1 54 JA @ & o @+
Hrga a1 FAA: 40 kg, 42 kg 3T 39 kg F1 Faw 8 ¥ RemfEat Fr sdtwa g== w7 Hfsw)
(GHT & & T e qUlifehd)

Options :
| % 41.24 kg

, » 40.32 kg
L % 39.98 kg

, % 38.75 kg

Question Number : 52 Question Id : 9679472274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 1, 5, 8 and X is 6. The average of 2, 5. X, 13 and v is 9. Find y.
Options :

1 ® 9

> % 10
3 % 12

4.¢ 15



Question Number : 52 Question Id : 9679472274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1,5, 8 it x #r 3it@aT 6 §1 2, 5, x, 13 3R y & 3itw@a 9 B1 y 77 Hifsmw)

Options :
1. % 9
> = 10

3 % 12

4.v 15

Question Number : 53 Question Id : 9679472275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the area of a trapezium with parallel sides 12cm and 10 cm and the distance between the parallel sides being 6cm.
Options :

| % 54 sq.cm

» % 62sq.cm
3 66 s3q.cm

4 % 70 sq.cm

Question Number : 53 Question Id : 9679472275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ue FHEE H ATH AT ST HS FAGT AT 12cm HT 10 cm § AR FAASR =131t & 7o
& 6cm gl

Options :

| % 94 sq.cm

, » 62 sgq.cm
5 « 06 sq.cm

4 » 70 sq.cm

Question Number : 54 Question Id : 9679472276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b B |

The area of a circular field is 154 hectares. Find the cost of fencing it at the rate of 5 per metre [Use n ==

Options :
1.« ¥22000

5 % 322650
3 % 323500
4 % 23875

Question Number : 54 Question Id : 9679472276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U JARR Held & 896 154 gFeaT g1 5 9ia #HeX &7 T ¥ TTH T A & (I8 ol )
T §41C [r:=2?—2 T I Y

Options :
| v % 22000

5 % 22650
3 % 23500

4 %23875

Question Number : 55 Question Id : 9679472277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 15m deep well of diameter 7m is dug up and the earth is spread evenly to form a platform of 11 m * 7.5 m. Find the

height of the platform. [Use n = 2?—2 ]

Options :
1. ¥ Tm

) ® 6.5m

3 % 6m

L |

4. % 5.5m



Question Number : 55 Question Id : 9679472277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7m EOTH FTe 15m IR UF FH3T @iaT ST § 3’ 3EA F el el #F 11 m x 7.5 m Rt
e TATHH T AT & § e f23r Smar g, I ceewrd fr FEe AT 1 [TT=§ T 3YANT F]

Options :
1. 7 m

2. 6.5 m
3. ® 6 m

4 ® BB m

Question Number : 56 Question Id : 9679472278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the lateral surface area of a cube whose diagonal is 8v/3 m.
Options :

| % 128m?

5, % 136m?



Question Number : 56 Question Id : 9679472278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8v3 m TIerUT aTer O FT 9T 55 SIG AT H|

Options :
1. % 128 m.z

5 % 136 m?
3 v 256 m?

4, % 384 m?

Question Number : 57 Question Id : 9679472279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the given table answer questions

The table below gives the sales of different types of batteries of company XYZ for the vears 2010-16 (Rupees in Lakhs)

TYPES OF BATTERIES

YEAR | A E L2 D TOTAL
2010 |90 164 |92 107 | 453
2011 105 | 146 |74 125 | 450

2012 | 111 134 | 95 134 | 474

2013 | 120 | 110 |65 74 369

2014 105 |95 35 80 324

2015 | 120 |80 87 1192 | 406
2016 | 130 |70 100 | 144 | 444

In which vear did the sale of Batteries B and D (together) account for more than 60% of total sales?
Options :

| % 2010

» « 2011

3 % 2012

4 % 2013

Question Number : 57 Question Id : 9679472279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A & o€ arfere 39 2010-16 F R Fuar XYZ #r Bfeesd v &1 Seiar &7 {Fdr (st 2 §)
AT B

#HF=Ir =T ST

=F A B e D T
2010 | 90 164 a2 107 453
2011 |105 |[148 |74 |125 |aso

2012 (111 134 a5 134 | 474

2013 (120 | 110 | 65 74 369

2014 | 105 |95 as 89 324

2015 (120 | B8O g7 119 | 408

201 (130 | 70 100 | 144 | 444

fw 3w et B 3 D (vs @) #r fhr For R & 60% ¥ 3o o
Options :
| = 2010

5 v 2011
3 % 2012

4 % 2013

Question Number : 58 Question Id : 9679472280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the table below answer questions

Given below are the marks scored by 5 students in an examination in five subjects and the numbers in the bracket is the
maximum marks that can be scored by a student.

Nams Subjects
English{100) | Language(50) | Maths(120) | Science(30) | Social
| Srudies(75)

A i) i 100 7 175
B 80 40 11 6l 171
C 65 2 62 70 160
D 8 4l 58 65 6l
E 50 ) ) | 54 I5

How many scored more than 90% in Social studies?
Options :
1 ® 4

> #® 3
3.4 2

4. % 1

Question Number : 58 Question Id : 9679472280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=T aifereT & T 98T & 5 o1& & 99 F9ar # greg 3+ fGu 57 § 3 Frees 7§ 30 aH 3
few arv § St T O1F ga’r 9vF BT 1 T g

= | o
(100) | {50) (B0y | FomEe

(75)

A |78 48 |100 72 75

B |80 40 |11 60 71

C |85 32 |e2 70 B0

D |82 |41 |58 |65 |e1

E |50 42 |60 54 52

foraer Ot & TTAEeF 3009 & 90% ¥ HiUs urais 9reg f&ar?

Options :
1. # 4
2. ® 3

3.4 2

4. % 1

Question Number : 59 Question Id : 9679472281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph below details out the number of students admitted in an engineering college during the years 2011-2016.

Admission

Which vear showed the highest decline in students admitted in absolute numbers compared to the previous year?
Options :
1.+ 2012

» % 2013
3 % 2014

4 % 2016

Question Number : 59 Question Id : 9679472281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



farT 253 I 2011-2016 & R U= SHATRTNET Fiost § 939927 (Admission) o Jrer ©mET i F@Eam
T Taor &ar g

Admission

oo a¥ & goeT & 58 ¥ 999 o aTel OISl B §EdT # #@ad 31w FrEe @ 18?
Options :
| v 2012

5 % 2013
3 % 2014

4, % 2016

Question Number : 60 Question Id : 9679472282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph below details out the number of students admitted in an engineering college during the years 2011-2016.

Admission

If the number of students leaving the college after admission in any year is 0.2% more than the percentage who left in
the previous vear, and if in 2011 the said percentage was 3%, find how many students left the college after admission in

the year 2014 (round off to the previous whole number)
Options :
| % 112
> % 113

3« 114

4 % 115

Question Number : 60 Question Id : 9679472282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

5T g=3my@ av 2011-2016 & S v s=ifRafie Fio H 939 (Admission) o1 JTer SET & @Eam
&7 fa=gor &ar

I fET off a9 & 99T o/ & 91 Flolel TS Jrel OEr Ff T o Iy & oiEa I oE &
gfaerd ¥ 0.2% 39 g, 33T afg 2011 & Ig 9faed 3% o7, aF 95 2014 # Fds ©E & 9997 & a5
Flost OIS AT (T3 o7 §&T H Ol #4)?

Options :
L% 112

2 % 113
3 v 114

4 % 115
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Question Number : 61 Question Id : 9679472283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the kind of adverb which has been used in the following sentence.
The soldiers fought bravely.

Options :
1. # Adverb of time
2. % Adverb of manner



3. % Adverb of frequency
4. % Adverb of place

Question Number : 61 Question Id : 9679472283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the kind of adverb which has been used in the following sentence.
The soldiers fought bravely.

Options :

1. # Adverb of time

2. ¥ Adverb of manner
3. % Adverb of frequency
4. ¥ Adverb of place

Question Number : 62 Question Id : 9679472284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense which has been used in the sentence given below.
By the end of next year, we will have saved enough money to build our own house.

Options :

1. # Future Continuous Tense

2. ¥ Future Perfect Tense

3. # Future Perfect Continuous Tense

4. ¥ Simple Future Tense

Question Number : 62 Question Id : 9679472284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense which has been used in the sentence given below.
By the end of next year, we will have saved enough money to build our own house.

Options :
1. # Future Continuous Tense



2. % Future Perfect Tense
3. #* Future Perfect Continuous Tense

4. # Simple Future Tense

Question Number : 63 Question Id : 9679472285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense which has been used in the sentence given below.
I had never been taunted by him before.

Options :

1. ¥ Past Perfect Tense

2. # Past Perfect Continuous Tense
3. % Past Continuous Tense

4. # Simple Past Tense

Question Number : 63 Question Id : 9679472285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense which has been used in the sentence given below.
I had never been taunted by him before.

Options :

1. ¥ Past Perfect Tense

2. # Past Perfect Continuous Tense
3. % Past Continuous Tense

4. # Simple Past Tense

Question Number : 64 Question Id : 9679472286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
Rameela and her friends go for a walk in the morning daily.

Options :

1. #* Present Perfect Tense



2. % Present Continuous Tense
3. ¥ Present Indefinite Tense

4. % Present Perfect Continuous Tense

Question Number : 64 Question Id : 9679472286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
Rameela and her friends go for a walk in the morning daily.

Options :

1. # Present Perfect Tense

2. % Present Continuous Tense
3. ¥ Present Indefinite Tense

4. % Present Perfect Continuous Tense

Question Number : 65 Question Id : 9679472287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
Are you going to .......... supermarket by the beach side?

Options :
1. % a
2. % an
3. ¥ the

4. # No article is required

Question Number : 65 Question Id : 9679472287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
Are you going to .......... supermarket by the beach side?

Options :



1. % a
2. % an
3. ¥ the

4. # No article is required

Question Number : 66 Question Id : 9679472288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
I have spent almost .......... hour just looking for the book.

Options :
1. % a
2. % an
3. % the

4. # No article is required

Question Number : 66 Question Id : 9679472288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
I have spent almost .......... hour just looking for the book.

Options :
1. % a
2.9 an
3. # the

4. # No article is required

Question Number : 67 Question Id : 9679472289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the suitable phrasal verb from the options given below.
The miscreants tried their best to................. communal frenzy among the people as their last resort.

Options :



1. ®* work out
2. % work in
3. % work up

4. % work about

Question Number : 67 Question Id : 9679472289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the suitable phrasal verb from the options given below.
The miscreants tried their best to................. communal frenzy among the people as their last resort.

Options :

1. % work out
2. % work in

3. % work up

4. % work about

Question Number : 68 Question Id : 9679472290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'sterling' in the sentence from the given options.
Indira was always a woman of sterling qualities.

Options :

1. ¥ outstanding
2. # peculiar

3. % irritating

4. % guperficial

Question Number : 68 Question Id : 9679472290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'sterling' in the sentence from the given options.
Indira was always a woman of sterling qualities.



Options :

1. ¥ outstanding
2. # peculiar

3. # irritating

4. # guperficial

Question Number : 69 Question Id : 9679472291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the meaning of the given idiom.
'at loggerheads'

Options :

1. ¥ to be at strife

2. # to overthink

3. # to be unable to decide

4. # to be the cause of a quarrel

Question Number : 69 Question Id : 9679472291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the meaning of the given idiom.
'at loggerheads'

Options :

1. ¥ to be at strife

2. # to overthink

3. # to be unable to decide

4. # to be the cause of a quarrel

Question Number : 70 Question Id : 9679472292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct meaning of the given proverb.
If it isn't broken, don't fix it.



Options :

1. # Directionless work takes away all our time.

2. # If you are not an expert in mending things, don’t allow anyone to test anything.
3. ¥ If something works well, there's no point in trying to change it.

4. % Discord in relationships can't be mended.

Question Number : 70 Question Id : 9679472292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct meaning of the given proverb.
If it isn't broken, don't fix it.

Options :

1. # Directionless work takes away all our time.

2. # If you are not an expert in mending things, don’t allow anyone to test anything.
3. ¥ If something works well, there's no point in trying to change it.

4. % Discord in relationships can't be mended.

Question Number : 71 Question Id : 9679472293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

The three witches took out the cauldron and started preparing a concoction made out of their viciuous wrath to give to Macbeth.
Options :

1. # The three witches took out the cauldron

2. % and started preparing a concoction made out of

3. ¥ their viciuous wrath to give to Macbeth.

4. ® No error

Question Number : 71 Question Id : 9679472293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the sentence part which consists of a wrongly spelt word.

The three witches took out the cauldron and started preparing a concoction made out of their viciuous wrath to give to Macbeth.
Options :

1. # The three witches took out the cauldron

2. # and started preparing a concoction made out of

3. ¥ their viciuous wrath to give to Macbeth.

4. ® No error

Question Number : 72 Question Id : 9679472294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.

Options :

1. ® The chairman, as well as the members, are to be felicitated by the President.
2. % Many a man is imprisoned without a fair trial.

3. #® The doctor together with the nurses were on strike.

4. ® During the recent earthquake, two thirds of the city were affected.

Question Number : 72 Question Id : 9679472294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.

Options :

1. # The chairman, as well as the members, are to be felicitated by the President.
2. ¥ Many a man is imprisoned without a fair trial.

3. % The doctor together with the nurses were on strike.

4. % During the recent earthquake, two thirds of the city were affected.

Question Number : 73 Question Id : 9679472295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the grammatically incorrect sentence part from the given options.

The introduction of torn and ripped denim pants have caused an outrage among the conservative public of the small town.
Options :

1. #® The introduction of torn and ripped denim pants

2. % have caused an outrage

3. % among the conservative public of the small town.

4. % No error

Question Number : 73 Question Id : 9679472295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the grammatically incorrect sentence part from the given options.

The introduction of torn and ripped denim pants have caused an outrage among the conservative public of the small town.
Options :

1. ® The introduction of torn and ripped denim pants

2. ¥ have caused an outrage

3. #® among the conservative public of the small town.

4. ® No error

Question Number : 74 Question Id : 9679472296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
The two families have maintained a ............... relationship even after so many differences.

Options :
1. ® contagious
2. ® consensus

3. # catastrophic



4. ¥ civil

Question Number : 74 Question Id : 9679472296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
The two families have maintained a ............... relationship even after so many differences.

Options :

1. # contagious
2. % consensus

3. % catastrophic
4. ¥ civil

Question Number : 75 Question Id : 9679472297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
Father scolded Mary for her ............. behaviour.

Options :

1. ¥ impertinent
2. # intermittent
3. % inordinate

4. * innocuous

Question Number : 75 Question Id : 9679472297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
Father scolded Mary for her ............. behaviour.

Options :
1. ¥ impertinent
2. # intermittent

3. * inordinate



4. % innocuous

Sub-Section Number : 2
Sub-Section Id : 967947137
Question Shuffling Allowed : Yes

Question Id : 9679472298 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

Long ago, there lived a monster in a tiny village. The villagers were terrified of it and felt their hamlet was cursed to have such a creature living
in their midst. Several men tried to fight the monster. One man attacked it with a sword, but the creature grabbed the weapon, almost magically
pulled out another sword - twice as large, twice as sharp - and cut the man in half. Another time, a villager set off with a huge wooden club to
clobber the monster. The monster responded by slamming the man with a wooden club twice as heavy as the one he had brought along. On
another occasion, a villager tried to set the monster on fire. But the monster merely opened its mouth to swallow the fire and, in return, spewed
leaping flames that roasted the poor man.

Scared by these incidents, the village folk gave up trying to fight the monster. They began to believe that this was their lot and they would have to
learn to live with it. Then, one day, a little boy said he would go and vanquish the monster. The people were surprised, but despite their
skepticism, went along to see the little boy take on the monster.

As the boy looked up at the giant, the monster just flared its nostrils and glared back. The people were frightened. The little boy took out an apple
and offered it to the monster. The monster grabbed it, popped it into its mouth, and then thrust its clenched fist in front of the boy. Bam! As the
fist slowly opened, the people were astonished to see that it held two delicious apples. Twice as red and twice as large as the apple the boy had
offered.

The boy then took out a little earthen pot with some water and gave it to the monster. It took that and responded by placing in front of the boy
two urns made of gold, filled with delicious juice. The people were ecstatic. They suddenly realized that the monster was not a curse but a boon
to the village. The little boy smiled. And the giant just smiled back.

Sub questions

Question Number : 76 Question Id : 9679472299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the villager tried to set the monster on fire, the monster.............
Options :

1. # offered him an apple.

2. # cut the man in half and swallowed him.

3. ¥ ¢jected flames that burnt the man.

4, % slammed the man with a wooden club.



Question Number : 77 Question Id : 9679472300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, the monster had the capacity to ......................
Options :

1. # turn wood into gold.

2. % turn fire into wooden clubs.

3. # become friendly only with children.

4. ¥ intensify anything that was given to him.

Question Number : 78 Question Id : 9679472301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # The Foolish Villagers

2. # The Golden Village

3. % The Magical Monster

4. # The Monster with a Split Personality

Question Number : 79 Question Id : 9679472302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which group of words in the passage reflect the physical strength of the monster?
Options :

1. ¥ grabbed, clobber, slamming

2. % cursed, attacked, swallow

3. % fight, vanquish, popped

4. # astonished, smiled, spewed

Question Number : 80 Question Id : 9679472303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which word in the passage showcases that the villagers were uncertain of the little boy's plan to defeat the monster?
Options :

1. * surprised

2. ® ecstatic

3. % realized

4. ¥ skepticism

Question Id : 9679472298 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

Long ago, there lived a monster in a tiny village. The villagers were terrified of it and felt their hamlet was cursed to have such a creature living
in their midst. Several men tried to fight the monster. One man attacked it with a sword, but the creature grabbed the weapon, almost magically
pulled out another sword - twice as large, twice as sharp - and cut the man in half. Another time, a villager set off with a huge wooden club to
clobber the monster. The monster responded by slamming the man with a wooden club twice as heavy as the one he had brought along. On
another occasion, a villager tried to set the monster on fire. But the monster merely opened its mouth to swallow the fire and, in return, spewed
leaping flames that roasted the poor man.

Scared by these incidents, the village folk gave up trying to fight the monster. They began to believe that this was their lot and they would have to
learn to live with it. Then, one day, a little boy said he would go and vanquish the monster. The people were surprised, but despite their
skepticism, went along to see the little boy take on the monster.

As the boy looked up at the giant, the monster just flared its nostrils and glared back. The people were frightened. The little boy took out an apple
and offered it to the monster. The monster grabbed it, popped it into its mouth, and then thrust its clenched fist in front of the boy. Bam! As the
fist slowly opened, the people were astonished to see that it held two delicious apples. Twice as red and twice as large as the apple the boy had
offered.

The boy then took out a little earthen pot with some water and gave it to the monster. It took that and responded by placing in front of the boy
two urns made of gold, filled with delicious juice. The people were ecstatic. They suddenly realized that the monster was not a curse but a boon
to the village. The little boy smiled. And the giant just smiled back.

Sub questions

Question Number : 76 Question Id : 9679472299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the villager tried to set the monster on fire, the monster.............
Options :

1. # offered him an apple.

2. % cut the man in half and swallowed him.

3. ¥ ¢jected flames that burnt the man.



4. % glammed the man with a wooden club.

Question Number : 77 Question Id : 9679472300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, the monster had the capacity to ......................
Options :

1. ® turn wood into gold.

2. % turn fire into wooden clubs.

3. % become friendly only with children.

4. ¥ intensify anything that was given to him.

Question Number : 78 Question Id : 9679472301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. ® The Foolish Villagers

2. % The Golden Village

3. % The Magical Monster

4. ® The Monster with a Split Personality

Question Number : 79 Question Id : 9679472302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which group of words in the passage reflect the physical strength of the monster?
Options :

1. ¥ grabbed, clobber, slamming

2. % cursed, attacked, swallow

3. # fight, vanquish, popped

4. ® astonished, smiled, spewed

Question Number : 80 Question Id : 9679472303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which word in the passage showcases that the villagers were uncertain of the little boy's plan to defeat the monster?

Options :
1. #* surprised
2. * ecstatic

3. # realized

4. ¥ skepticism
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Question Number : 81 Question Id : 9679472304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g YR-9R cgadr g1 - ared # fobar-faivor 8-
Options :

1. % g

2. ¢ dR-¢R

3. % Cgddl

4. ® WYMH

Question Number : 81 Question Id : 9679472304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o MR- cgadr g1« - ar & fepar-faximon 2-
Options :

1.%3g

2. ¢ gR-GR

3. % CoddI

4. % YH

Question Number : 82 Question Id : 9679472305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fa=Ivor foseen! fa=IvaT sdraT g2
Options :

1. % fawg

2. % 35

3. % 7000



4. ¢ fovg

Question Number : 82 Question Id : 9679472305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[EEINACRCARERINRICRIRIN.
Options :

1. % fawg

2. % Ie=

3. % 7000

4. fau=g

Question Number : 83 Question Id : 9679472306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TR 9gd Yo 8 | Yo g, b faRwur 10 A5 § 2
Options :

1. ¢ FIa-THe oo

2. % T[UMATId ARVl

3. % YA fa=yor

4. % URHETUETED faRIvor

Question Number : 83 Question Id : 9679472306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig WX 95 YaX o | Xqiiohd Xeg, ford faRNuI 71 0 UG 5 2
Options :

1. ¢ QIS TR0

2. % TUETES faRIyor

3. % AT fa=yor

4. % URHETUETED faRIv0T




Question Number : 84 Question Id : 9679472307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ ®F-31 fam ey sdoH 9 &1 3R 82
Options :

1. ® frspd

2. % §RY

3. % fRrarery

4. ¥ A

Question Number : 84 Question Id : 9679472307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRad o 9 HH-91 fdwed i Wil &1 ISeR0T 62
Options :

1. % FA%ha

2. % 4R

3. % fRarery

4.« JAd

Question Number : 85 Question Id : 9679472308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR G A forgepT At gaT 82
Options :

1. % QR YT G BT

2. ¥ QTR B

3. % TR YT faw &1

4. % G ol BT



Question Number : 85 Question Id : 9679472308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R W F fa! 39 gial 82
Options :

1. % TR TYT IS &I

2. ¥ TR BT

3. % TR YT fae

4. % g Sl Bl

Question Number : 86 Question Id : 9679472309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yfafe o T ¥ 2-

Options :

1. % fg g

2. % GG gHNY

3. % d¥Y JHNY

4.« 3[oIIHTd FHTH

Question Number : 86 Question Id : 9679472309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wfafeT 1 wHR 94 8-

Options :

1. % fg 9ury

2. % Gg 9A™

3. % d>Y JHNY

4. 3(UIHId THTY

Question Number : 87 Question Id : 9679472310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ST T FHY e -
Options :

1. ¢ fgry aumy

2. % [gYHIG U

3. % oY AN

4. % gg gHY

Question Number : 87 Question Id : 9679472310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- SETAT BT GHY Ve 8-

Options :

1. ¢ fe 9ar

2. % ST THIH

3. % d¥Y JHY

4. % gg gAY

Question Number : 88 Question Id : 9679472311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fo P & faurg & forg SR Xeg gRT-
Options :

|. % §PR

2. % §QNT

3. % Y

4. dbH

Question Number : 88 Question Id : 9679472311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fo o & faug & forg SR Xeg §RT-
Options :

|. % §PR

2. % §QNT

3. % Y

4. dbH

Question Number : 89 Question Id : 9679472312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3 8 § % oY e uad & il 9 3ddhR &1 9T 8-
Options :

1. % YifdHM SfefdR

2. % XY SADR

3. ¢ JU&T 3TBR

4. % TR APR

Question Number : 89 Question Id : 9679472312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M A T 8 % Wl He Uae & Ziebl A 3fefbR &1 9 -
Options :

1. % YifqAH SR

2. % TN SBR

3. ¢ I 3ABR

4. % WRUT [ABR

Question Number : 90 Question Id : 9679472313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgferfad & ¥ -1 ¥ UEAHR BT 82
Options :

1. ¥ Y ABR

2. # JffaRrifad bR

3. % TUH AAPR

4. % HHEGIHI S[ADBR

Question Number : 90 Question Id : 9679472313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafifed & ¥ $1H-91 9 UAADR $1 52
Options :

1. ¢ Y DR

2. % A=A PR

3. # TUD APR

4. % HHIIDI 3STDR

Question Number : 91 Question Id : 9679472314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 fadm el o1 HH-91 g S o7
Options :

1. % 3fd-effg

2. ¥ FARFI

3. % Wffed-IRd

4. % FRIGR

Question Number : 91 Question Id : 9679472314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafiad 7 & o wea! & HH-I1 T 313G 17



Options :

1. ® 3id-3Mfe
2. ¥ HAF-PU
3. % Sffed-aRd
4. % TR-IPR

Question Number : 92 Question Id : 9679472315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST Teg bl AT e B-

Options :

1. % ggrd

2. ¢ U

3. % g3

4, % Y-

Question Number : 92 Question Id : 9679472315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Teg; BT AT Teg B-

Options :

1. % g

2. ¥ U

3. % g9

4. % Ydq

Question Number : 93 Question Id : 9679472316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T IR HIAdTd i SIc — ArbITad BT 37 5-

Options :




1. % JRef ged! 8l

2. ¢ 3O e A AR ¥ aTdl B gl GIut 38T
3. % JORTEf} X BY WY

4. % IR FIBHR HFT 91T, IR TH ST ST

Question Number : 93 Question Id : 9679472316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T IR HIAdTd i SIc — ArbITad Bl 37 5-

Options :

1. # R1eht gah! 81

2. ¢ 3O e 7 AFGR ¥ aTdl B gl Gt 38T
3. % 3{ORTER 7T B ST

4. % IR FIHR HFT 91T, TR TH ST oY

Question Number : 94 Question Id : 9679472317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qE TN UT| AT B BTt BT UG 3-
Options :

1. % 3qul Yd&dTa

2. ¢ JUf YddhTd

3. % iy Ydbld

4. % YT b

Question Number : 94 Question Id : 9679472317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qE 31T AT 919 B BTl T 9G &-
Options :

1. # 3quf Ydord



2. ¢ Ul Yddb1d
3. % Hfe™ YdoTd
4. % JYTeg YdbTd

Question Number : 95 Question Id : 9679472318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Ug G| 19 § oTd BT 3 o-
Options :

1. % HddhTlcd

2. % Yid& DI

3. ¢ GAHM DI

4. % YT YIS PTel

Question Number : 95 Question Id : 9679472318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YU W E| a1 | BT BT e &-

Options :

1. # Hdhldd

2. % Hiasg e

3. ¢ GAHM BT

4. % GHTog HidS BT

Sub-Section Number : 2

Sub-Section Id : 967947139
Question Shuffling Allowed : Yes

Question Id : 9679472319 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

HTY 919 & Y BT UR JUITGRT TR T IR I8 TS B DT UT| Tell THTST (U daRT H T 1| SHTE-SNTE ¥ el 31911 oy FHaraq &t



YT 31eh VI WR Ug - B BRI B g1 AT | AigHE & U ST Jeie] HR H U7 91 BRIs Toh Sol Te1 51| SIY NI D1 1= 51 ol fob
M Y 301 37 7 fEdrd IR 98 Hd S+ aret | 1 791 I 81 A § §oIR| el &1 Wi 811 Tl iR @RT eiferal s1-§1R
TeM o gr @1 3Tl off a1d 2t 9 et o

E q BT U 6T HTH R g3 8 a9 I TS db -1 da! THT T He™ H T8l o1 713 ot 3R I8 IHT af e 91fet foh 3o asTs ot

gferd iHeR &1 Afed Favet gobT U1 b SiH-3He URT & 3JHR BIg TH 181 B Febcll | Sl AN HTH P aTet Y I Faob! SHUTR] b
GRT e SR I ¢ &1 715 A o 3110 afe qur & ymT ) <Y g 9ot S|

Sub questions

Question Number : 96 Question Id : 9679472320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T S GBI T 31 I WR UgaH BI HIFRAR DI B 8T Y12
Options :

1. v Rear

2. % JoYy

3. % g

4. % 4R

Question Number : 97 Question Id : 9679472321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN CIeral S-SR gl g Tl
Options :

1. % Tl H

2. ¢ HGHH

3. % Ulh |

4, % g U

Question Number : 98 Question Id : 9679472322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Qe S0 31 7 feaarar &7 Hia §-



Options :

1. % gfery W9 S Mabr |

2. % g a1y ¢ |

3. ¢ U S MbTa 3 A |
4. % qfery = 31|

Question Number : 99 Question Id : 9679472323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TUT Y et T <t 77 B2

Options :

1. % gforg &1 ey

2. % BT U

3. % el o is

4. AU TS5

Question Number : 100 Question Id : 9679472324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHT H HIT o dTell bl o1 FHeT SITe?
Options :

1. ¢ aI

2. % fie

3. % 9l

4. % YgYDH

Question Id : 9679472319 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No

Question Numbers : (96 to 100)

YUY I1 P JH BT HR GUIGH TR YT IR T8 YS'Y PR b1 UT| Tell AT U IR & T UT| SHT8-SRT8 ¥ FReFdl 311 el Hepre bt

YT 3T R IR UgaH B! BITAY B g off | AigHc & U oI Uey HIR 7 o7 991 Hiid U &9 -Tei 3811 399 A bl &rrsnafrwﬂﬁs
IS G 30T 7 A fR@dd IR 98 &a I+ aralt | fiF 591 J & Haq & goiR! Sefer &t His g @l ofR & Siferal a1-ara)



T o g @ | 317t o &1 ot 98 fARTelt o

OE q BT HT 6T HTH I g3 8 a9 I TS db -1 da! THT T A  H T8l o1 T3 ot 3R I8 THT af ST 91fet foh 3o dsrs ot
Qferd SR &1 Aifed Favel gobT Ul fob 3eh-3Heb URT & SR DI THI 181 51 ebell | S AN HTH B dTdd A 31 HoIob! SHUCRI b
GRT AT 3R GE1 ¢ <1 713 ot foh omu af quT & YT <7 ot SIelt i) STdT |

Sub questions

Question Number : 96 Question Id : 9679472320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T S BT T 31 I IR Uga- &I HIFAR DI B 8T Y12
Options :

1. v el

2. % JoYy

3. % g

4. % 9R

Question Number : 97 Question Id : 9679472321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN CIferal S-SR gl g Tl
Options :

1. % Tt

2. ¢ BEH H

3. % Ui |

4, % Jgh X

Question Number : 98 Question Id : 9679472322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS Qe 3101 31 7 feaara &7 H1d §-

Options :

1. % ey W9 Sy M |



2. % Qe AN 1 1Y ¢ |
3. ¢ T/ S Ml 3 e |
4. % gferg = 3Mmu|

Question Number : 99 Question Id : 9679472323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1 forgast T & 7 22

Options :

1. % gferg o1 Aifew

2. % BT U

3. % el o ois

4. ¢ 3N TS5

Question Number : 100 Question Id : 9679472324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHT H HIT o dTell b o1 ST SITa?
Options :
1. aI
2. % fo
3. % 9l
4. % YgYDH

Disciplinel
Group Number : 6
Group Id : 967947116
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 967947116

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947140

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9679472325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoaa # Q {59 areu o HRe &1 g TN g3 g SR A WA S © -
Options :

1. % FIQUgrII

2. ¢ HA3Y UgHT |

3. % TN 3 UerT |

4. % NP IYUSAT

Question Number : 101 Question Id : 9679472325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AR # 9§ fop aTers H HReb b1 HET TANT gaiT & SR A1 W Y& & -
Options :

1. % H Y UgrI |

2. ¢ HAII UG

3. % g Y UM |

4. % IR IY UG

Question Number : 102 Question Id : 9679472326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 ford ared H FHR01 HRS &1 Tal TN g3 g IR AR IS © -
Options :

1. ¢ g 3O HHTS 4 @ Faarg |

2. % US U Hhd R

3. % TR Y AT AT ASH |

4. % FIYINI g AdT |

Question Number : 102 Question Id : 9679472326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad d @ g e & o0 HRe® B 98 TN g3 g SR A IS & -
Options :

1. v T S0 TS 3 O g |

2. % TS Y Hhd MRT1

3. % WY AT AT ASHT |

4. % SIY IR g Aarl

Question Number : 103 Question Id : 9679472327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT HTE A ufafea A 3 Qad § 1 59 a1 & fohar-fagmr g -



Options :

1. % H BT UR
2. % BgE o

3. ¢ yfafed

4. % QAT g

Question Number : 103 Question Id : 9679472327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R BT HIS HigH UG HaM & Wod § ' 59 a1 | fohar-faRivor g -
Options :

1. % A DT YR

2. ® UG H

3. ¢ yfafeA

4. % QAdIg

Question Number : 104 Question Id : 9679472328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

370 Q fopg are ¥ feparr-faivr &1 v i gan 2 -
Options :

1. % 3oftg fR-IR IA /W E 1

2. ¢ Yl [ Ued B 1

3. % T 3 & 7T a8 ool 9 GIe |

4. % 39 98 8T -l @ @B 1

Question Number : 104 Question Id : 9679472328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
399 9 fod g H fobar-fa=iwur &1 Ui I8 gof 6 -

Options :



1. % Iroftg - Ia @17 1

2. ¢ AT AP Tl g |

3. % Y 3 & foru ag dell J areT 1
4. % 39 98 I8 HA-Hifd W wIR 1

Question Number : 105 Question Id : 9679472329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

370 9 S Afd uRHATuaTa R0 T IS0 T8 6 -
Options :

1. % Th dleR gy

2. ¥ $& fhard

3. % g8 Hiek HUST

4. % forell WR T

Question Number : 105 Question Id : 9679472329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g8 A HF YT uReamvars =iy o1 3o T8 § -
Options :

1. % Toh Al gy

2. ¥ $& fohdrd

3. % QT3 A HUST

4. % foell WR M

Question Number : 106 Question Id : 9679472330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®I% Jooi- TT GU € ' T8 1 fa=iwur & fopy g & il M g -

Options :
1. ® TUIATdD



2. % gRATUERS
3. % YQIdKdD
4. « IS

Question Number : 106 Question Id : 9679472330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIS Joi 3T EU & I' TE a19Y Q0T & fohg Hg & 3faifd i & -
Options :

1. ® IUIdIddh

2. % GRAERS

3. % QARG

4. QNS

Question Number : 107 Question Id : 9679472331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafifed & oo SR e oRrE 2 -
Options :

1. % gy =% +¥g

2. # YId.lcd = YId: + Pl

3. ¢ dARa =M+

4. % QAT =g: + ATHT

Question Number : 107 Question Id : 9679472331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafad o -1 9fY fowde S & -
Options :

1% Ry -0+ =y

2. ® YId:pTIcl = UId: + PhId




3. ARd=+g
4, % QRIAT=G: + AT

Question Number : 108 Question Id : 9679472332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froferad & 1 a1 o B BT IETex Te 32
Options :

1. % fdop + 7ol = favr

2. % P + I = IS

3. % I + N = ™

4.« dlP + HI =d[hHY

Question Number : 108 Question Id : 9679472332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ I 91 o 9 1 IaTeRu Ta! o7
Options :

1. # fap + o = iv

2. # d[ + SIlc] = oI

3. % 3 + N = 3™

4. ¥ dld + HY =d[hHY

Question Number : 109 Question Id : 9679472333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g B B o G BT IeTeRT TET R -
Options :

1. ¥ TgT + BN =gl

2. & ST+ 1Y = STy

3. % 9 + R = qRER



4. % U+ TH =TH

Question Number : 109 Question Id : 9679472333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g & 1 e Tfel T IeTeRuT TET R -
Options :

1. ¢ TET + BN = A8y

2. % G + AT = STy

3. % 9 + R = RGN

4. % gH+TH =TH

Question Number : 110 Question Id : 9679472334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA B AN T -

Options :

1. ¢ Oid

2. % IR

3. % dH

4.%

Question Number : 110 Question Id : 9679472334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WINFFANGE -

Options :

1. ¥ U

2. % IR

3. % diF

4. %3



Question Number : 111 Question Id : 9679472335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 DI TR TfY BT IS0 T8l & -
Options :

1. % faem + ardff = fammdf

2. ¥ T + Y = FARY

3. % gaT+ Ud - Had

4. % 3 + ISP = FIATID

Question Number : 111 Question Id : 9679472335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T P TR Y BT IR0 TN © -
Options :

1. % faerm + onff = faemeff

2. ¢ T + Y = {HARY

3. % ¥aT+Ud - g

4. % 3fd + ISP = AITTID

Question Number : 112 Question Id : 9679472336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AT A U e ug Bl § -
Options :

1. % TUh

2./l

3. % dH

4. % IR



Question Number : 112 Question Id : 9679472336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN 51 B U fh e Ug B @ -
Options :

1. % TUh

2.3

3. % diF

4, % IR

Question Number : 113 Question Id : 9679472337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGS TN & I 91 UG TUH BT © -
Options :

1. % g4 Ug

2. % §gdlfg

3. % gg

4. % 3R Uq

Question Number : 113 Question Id : 9679472337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dSY TN H ®1F 91 Ug YU 81T § -
Options :

1. % qdUg

2. % ggdife

3. % gg

4. % 3 Uq

Question Number : 114 Question Id : 9679472338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HiST0 o5 TH BT IR § -
Options :

L. % ddey

2. % qgdifg

3. ¥ gg

4. % 3T

Question Number : 114 Question Id : 9679472338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A-9TT g TH o1 ISTER B -
Options :

L. % ddey

2. % ggdifg

3. Y58

4, % 3foUyHTd

Question Number : 115 Question Id : 9679472339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T A I IR UT el 87
Options :

1. % TATTST

2. % GideR

3. ¢ A & AR

4. % g

Question Number : 115 Question Id : 9679472339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST PIF TR UT el 82
Options :

1. % TATTST

2. % GideR

3. ¢ A & AR

4. % g

Question Number : 116 Question Id : 9679472340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIIRG TE 2 -

Options :

1. % o ¢ A o

2. ¥ IRUC

Question Number : 116 Question Id : 9679472340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T A IHRIB U & -

Options :

1. % <9 § drem o

2. ¥ WUC

3. % et T

4. % Tg b YU G9

Question Number : 117 Question Id : 9679472341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



CIGICE IERSIHE!
3fFSR-UTYC H gl IgI dRT-UC IU-ATRT |
T GER) Ufet H HIH-91 PR § -

Options :

1. % 3UHT

2. % Jalar

3. ¥ Uh

4. % A=

Question Number : 117 Question Id : 9679472341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CIGICHIGRIREIRIRI

JTR-U-TYC H ol Xgl dRI-U¢ SH-ATRY I
TgI gu}! Ufad H -7 S[APR § -

Options :

1. % 3UHl

2. % Jalar

3. ¥ UD

4. % A=t

Question Number : 118 Question Id : 9679472342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ad Yo TH-TRR B,

TqoTd ARe-H1 el bifd i1

T 3aTeR0T H IUAH § -

Options :

1. ® Hifd

2. ¥ HARe




3. % 1
4. % Hd

Question Number : 118 Question Id : 9679472342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tad YR WMH-TRR B,
NEREINERCEI RN

9 ISRV H ITAA G -

Options :

1. % Sifd

2. ¥ ARe

3. % 9

4, % hd

Question Number : 119 Question Id : 9679472343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y9 Afad A a0 ' - S0 A T 9 HH-91 SEPR & -
Options :

1. % Y

2. % geblferd

3. % JHh

4.« U™

Question Number : 119 Question Id : 9679472343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yadh Fiod JHF gl ' - 39 g 7 9 HH-91 SEPR © -
Options :

1. % 39




2. % gepifad
3. % gD
4.« U™

Question Number : 120 Question Id : 9679472344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aehIfad SAPR b Ty H I § -
Options :

1. % gadl & 3fad

2. % Ifag &1 iy orf

3. % S GRT ST 3= 37 T ST
4. ¢ S YHe AT

Question Number : 120 Question Id : 9679472344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR CidR b T T ST B -
Options :

1. % ol & Sfekd

2. % 3fad &1 ST 3

3. % SfIdT gRT SBT3 3 TIT ST
4.« I UBHC AGHA

Discipline2
Group Number : 7
Group Id : 967947117
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 967947117

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947141

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9679472345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 # 9 14 1 Teq Rig! 1 wafar 781 & -
Options :

1. % HIRIS

2. % gkl

3. % B

4. ¢ T

Question Number : 121 Question Id : 9679472345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

19§ QB 91 Weq 'Rig' 1 waigar=i 7613 -
Options :

1. ® IR

2. % RIS

3. % B

4.9

Question Number : 122 Question Id : 9679472346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
VIRT 21ee 1 Wi S T S
Options :

1. ¢ RrefigE

2. % 9IRG

3. % Iy

4. % gIieE

Question Number : 122 Question Id : 9679472346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“AURT eg BT YIS ITGad TaTIar § -
Options :

1. ¢ Ry

2. % 9IRG

3. % Iy

4. % gt

Question Number : 123 Question Id : 9679472347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3" Xeg BT YAl Iugad faaH Teg 3 -
Options :

1. ¢ U

2. % 3Y

3. ®# d3l

4. % 9y

Question Number : 123 Question Id : 9679472347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
35T Vg BT Jafih IUY fIdH Uea & -
Options :

1. ¢ U

2. % 3y

3. % dgl

4. % 9§

Question Number : 124 Question Id : 9679472348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Xeg BT 3Tl Teg TET & -
Options :

1. * N

2. ¢ Tt

3. % I

4. % T

Question Number : 124 Question Id : 9679472348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
I Teg BT 3BT Teg 78T © -
Options :

1. % N

2. ¢ fawi

3. % oI

4. % gd

Question Number : 125 Question Id : 9679472349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9§ q 1 I «3R1eAT B Thteff weg 72
Options :

1. ® fqOR

2.9 U]

3. # JdHXdP

4. % fojaq

Question Number : 125 Question Id : 9679472349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 T 8 B T SARTYAT BT TH T e 52
Options :

1. # fagR

2.9 dUHl

3. ® qdHdP

4. % T4

Question Number : 126 Question Id : 9679472350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fodrTe’ <rea BT 31§ -

Options :

1. % HIAT & fUar
2. % §gA & fuar

3.« AT & fuar
4. % 4TS & fuar

Question Number : 126 Question Id : 9679472350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fUame’ e BT 31 B -

Options :

1. % A& fUdr
2. % g o fUar

3.« fUaT & fuar
4. % Yig & fuar

Question Number : 127 Question Id : 9679472351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“GIfeHT BTY BT "HBIaR BT Jugerd 31U @ -
Options :

1. % ST




2. % BleT g

3. ¢ §gd 9gr—e gl
4. % fQRAe g

Question Number : 127 Question Id : 9679472351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR BT BT "HgTaR T Jugerd 313 3 -
Options :

1. ® ST

2. % QI gl

3. ¢ §gd gD Bl
4. % fRAN gIHT

Question Number : 128 Question Id : 9679472352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘SFUT BT B AUTHAT UTd DI T B o (a4 FaiIemIugad JTasl 6-
Options :

1. % RIS




2. ¢ Y R T ST

3. % RR@E e

4. % §Td ST 7 B

Question Number : 128 Question Id : 9679472352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘ST HTH P HIHAT HTd Bl YHe B b (0T FaT b 3ugdd TeTav &-
Options :

1. % BIIISHI

2.« Y R T ST

3. % RR@ e



4. % §Td SipT 9 BT

Question Number : 129 Question Id : 9679472353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP U Gl PP Al BT I 31 g -
Options :

1. ® A Bl ey

2. % 3If®H I+
3. % QIR

4. ¢ TH HTH H aIg ATH

Question Number : 129 Question Id : 9679472353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UY & HIo Albliad o1 Sugad Y g -
Options :

1. % STH BT ATH

2. % YD g+

3. % QI



4.« U & A gl Ay

Question Number : 130 Question Id : 9679472354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 B yfawrd w1a o1 9 e 8-
Options :

1. % gAY Yy

2. ¢ faRry Hias

3. % gHTg Hidsg
4. % g8 Ha Hidw

Question Number : 130 Question Id : 9679472354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 ¥ B 4fIwd o1a &1 A T2 3-
Options :

1. % GH Hids

2. ¢ fafR1y Hidw



3. % JUrg Yidsy
4. % g od Ha Hidw

Question Number : 131 Question Id : 9679472355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AL AN H I -SH TR BTG G -
Options :

1. % GH Hids

2. % fafry yigsy

3. % gYrg Yfdsg
4. ¥ §g o Ha Hidw

Question Number : 131 Question Id : 9679472355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T MU N F IS AR BTG ¢ -
Options :

1. % G Hids

2. % fafy yidwy



3. % Yy yidw
4. ¥ BJ o HG Hidw

Question Number : 132 Question Id : 9679472356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
270 ¥ BT YdPTd BT He el & -
Options :

1. = gH Hd

2. % AN Yd

3. % guf yd

4, gquf yd

Question Number : 132 Question Id : 9679472356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
379 q B YJbTd BT VS T8l & -
Options :

1. * gH Hd

2. % AT Hd

3. % quf g

4. QU g

Question Number : 133 Question Id : 9679472357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H 3T @1 R 1! I8 a1 YepTel & [ e § G @ -
Options :

1.« 3{1HF Yd



2. % guf yd
3. % 3qul yd

4. % QARG Y

Question Number : 133 Question Id : 9679472357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B ST G § 1! T8 TR AT b ohe 0 F T 3 -

Options :

Question Number : 134 Question Id : 9679472358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
379 § P IHH Il BT Ve TeT 8 -
Options :

1. % G gdqH

2. % qTbIfcIdh IaHH

3. % Ul gdqH

4.  3qUl gHE

Question Number : 134 Question Id : 9679472358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
298 ¥ b1 IJHH BT BT Ve Tl & -
Options :

1. % =T IqHH

2. % qIchlieih IoHT




3. % guf gdHm
4. ¢ 3qUf afHH

Question Number : 135 Question Id : 9679472359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T IET & ' T§ a1 GTHT HIdl BT B § Ve P faia A B -
Options :

1. % iy godum

2. % FH IAHM

3. ¢ AT JAHH

4. % qUf A

Question Number : 135 Question Id : 9679472359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 1 TET § ' T§ A9 GaHT BIdl BT B J Ve & i AR -

Options :

1. % e gdHe

2. % R 9adH

3. ¥ ATHIAD JAHMH

4. % QU qqEM

Sub-Section Number : 2

Sub-Section Id : 967947142
Question Shuffling Allowed : Yes

Question Id : 9679472360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (136 to 140)

ST AR T ¢ 81 99 TS -1g1 & | U7 DI Goll ol 9gd HH Tl H gidl & TS & | TR BT S8 381 IR ¢RU 3R IaT6R0l §6- ged
T AT, O 3y fafed g Siewm & ST U1 -d €, oo fore g1 Siid s a% &1 duR 384 §, e Jfd ariamen @+ &




foTT 81 3% TRE & FRS (g TR W B 6, 361+ STAT HHM H U1 THT ] 91T AT, Sfedp I8 $© TN HH [hT & et
e 89 3T I fYH Heaa JHgld ¢ | f5H AT & STa &1 3530 had $UY 9T §, 30! UaS &4 g5 ¢ | IS siaiis 7 37
forelt = U1 d 15| S5+ o fora, 01 HHR 3R WRAID &1 1 $1 | {3 SI1 a9 el o d S A 3R Fet T¢I A JaTS Wi
gam%,wa's’wﬁﬁ U ST el ST 3id # 9 81 Jol 91Td &, el 310 Sita &1 3Hfid $Hd THT I A% &1 Uiy fean

|

Sub questions

Question Number : 136 Question Id : 9679472361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3Twde 9 g o kg et § 2
Options :

1. % Sffae aie & fog

2. % Sita @1l gfd & fo

3. ¢ STa IRl & STl & forg

4. % Siig I

Question Number : 137 Question Id : 9679472362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3G Bl AT © -

Options :

1. % SOl

2. ST

3. % &M

4. % g

Question Number : 138 Question Id : 9679472363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T AT BT HA @ -

Options :



1. % ¢ PT e
2. % U HHAMAI AT

3. % Wi Y IUrEE
4. ¢ T 3R gAY

Question Number : 139 Question Id : 9679472364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS PIUIT R -

Options :

1. ¢ g 34l

2. % W@y

3. % Wyfag

4. % g famfor

Question Number : 140 Question Id : 9679472365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T § Yeld a T & -

Options :

1. * 49 51 9D el

2. % TEH AN A ¥ HHMH Dl Hed ol fadl
3. ¢ U9 9T 4ol SITdl §

4. % g9 ®I fd HA1 Tay Hgaquf

Question Id : 9679472360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (136 to 140)

SHUIR A 49 81 99 S -Tal ¢ | 4= B! Yol ol g HH SHTel | gidl ol TS 8 | TR BT S8 I3T IR SRAT 3R IaEX ga- gedR
T YT, A gt fafed 81 S foh foe! SuraH &Rd €, o fod g9 81 fsT d@ &1 duR 384 &, fore! Wi aRidre e &
foTT &1 3% TRE & FIRS (g TR Ws Fd o, 3811 ST HHM H 30T THY ] 91T U1, Sfedh I8 $© T4 B fhT A e
e 89 30U ¥ 3% Tega Jrgrd § | 5 @l & Siad 1 3e-0 $Had JUY FSRAT §, Sd! ST HH 8 ¢ | SAHI Sawi1ef 7 37




fohaft 2 OB d 81 | S6i- of o, BUdT HHMT 3R WRald &1 a1 &1 | fhdt 3 1 a6l fob o S Y 3R Fgl T | AHa TS Wt
%ﬁ?&%’,waﬁ’wﬁﬁ SURIT HRAT Ta! ST | 3id # 9 81 Il 91Td &, orgi 310 Sita &1 SHfUd Hd THT T A% &1 uiag fean

|
Sub questions

Question Number : 136 Question Id : 9679472361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3Jwq U 1 o1 U At 8 2

Options :

1. % Sfia efg & forg

2. % Sfig W@ gfa & forw

3. ¢ Sia GIRI & B & forg
4. % Siig fRd®

Question Number : 137 Question Id : 9679472362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3 P AA T -

Options :

1. % ST

2. 3{fHYT

3. % &MU

4. % g

Question Number : 138 Question Id : 9679472363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TG BT A YA 3 -

Options :

1. # Y9 P Hed

2. % U HhHAT A&



3. % W Bt IUrEE
4. ¥ AT 3R JHYUT

Question Number : 139 Question Id : 9679472364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG BTUIN B -

Options :

1. ¢ awd (U]

2. % @ry

3. % g UfasT

4. % g faAfor

Question Number : 140 Question Id : 9679472365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T Y Yelid au T & -

Options :

1. % Y781 9P Tel

2. % g AN A & YT HHH HI 7Aed ol 1adl
3. ¢ U 910 gol o1 §

4. % g B SfUd BT I Agaqul

Discipline3
Group Number : 8
Group Id : 967947118
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 967947118

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947143

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9679472366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e oS o e S iy
Options :

N
1w ol

5w owdlas

y, " Ii v |
4. B == b Gk



Question Number : 141 Question Id
Orientation : Vertical

: 9679472366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

R P LT & s R

Options :

| T e—
1 v Ol

o x oy

3. G _)_A‘....J|

T | B I
4. B == b Gk

Question Number : 142 Question Id
Orientation : Vertical

: 9679472367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

€ il yie Sty Jail L €

Options :

Question Number : 142 Question Id

: 9679472367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ol e S Bl G e e i s 2

Options :

Question Number : 143 Question Id : 9679472368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ s s ik eak o aEs

Options :

| A |
H‘hﬁﬁ?ﬂn

Question Number : 143 Question Id : 9679472368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o 1 o T : iy PR, L g
g_—u-‘;_ks:hﬂhﬂlf_—é:*#-ﬂ"*“‘—"‘—{

Options :

| I
H‘l.ﬁa'—"'n. 1:.“.

Question Number : 144 Question Id : 9679472369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ENT k| L R PR - g 1Y
Options :

. A

Question Number : 144 Question Id : 9679472369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S a1 S LBl s (o
Options :

. A&

Question Number : 145 Question Id : 9679472370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ . ' sy 11
f =S aea S'cae e

Options :

1. 8 ==

Question Number : 145 Question Id : 9679472370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ , 1 i 1.5
(=S Sl U0



Options :

1. ¥ =%F

4.4 T

Question Number : 146 Question Id : 9679472371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom LS e ST o gl ) glaa
Options :

Question Number : 146 Question Id : 9679472371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom LS e STUGN A g e ) glaa
Options :



Question Number : 147 Question Id : 9679472372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl S e 1S 1002 s e
Options :

], S¥-

Question Number : 147 Question Id : 9679472372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol S s S 222 Jade
Options :

1LV S



Question Number : 148 Question Id : 9679472373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tom i S S0 e g Alu gt o S f e g
Options :

® S o, .

L

1.

R e
3. % ks

4 % _;j;hu-'..;

Question Number : 148 Question Id : 9679472373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T olie (S S0 g Slugii o S fi o e it
Options :



3. % e cda

Question Number : 149 Question Id : 9679472374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ e S e 0 Jle (S (5 ) et aiale
Options :

1%:3«"_;"!‘:'

Question Number : 149 Question Id : 9679472374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
€ o S e U0 e (S g ) el aiale
Options :

lwf'__ﬂ-"""'



Question Number : 150 Question Id : 9679472375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fom e LS Selgliflicedas
Options :

1. % FEN \_-r1"-_)'

Question Number : 150 Question Id : 9679472375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fop e lS Seliprliflhice das
Options :

1. ® e b s



Question Number : 151 Question Id : 9679472376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S LS el il Sl plla el Gld S0 edg A
Options :

| ® SxEs A

D W iy A

Question Number : 151 Question Id : 9679472376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom S LS ol Ja S e b el Gl S000 edisa e
Options :

| w S s

R A e e B



Question Number : 152 Question Id : 9679472377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 g ol i 1S "ol il Lk (68 s (e U i 2
Options :

1o A

Question Number : 152 Question Id : 9679472377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl e S al Bl 58 e 2~
Options :

| HA



4 % S

Question Number : 153 Question Id : 9679472378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

Question Number : 153 Question Id : 9679472378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

| % s



Question Number : 154 Question Id : 9679472379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
.f._-uS | = ,:u.‘- ':....II p—" Jalal) ,._lg e _l.l_"'
Options :

1 % (il

) v U

Question Number : 154 Question Id : 9679472379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
.,._-uS .__"_"\:ﬁ' = ::'i.n.‘- |:....'| j— pEEL) ,._lg | _1.|."
Options :

1 % i)

) v I



Question Number : 155 Question Id : 9679472380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
€ o S e U i S il Jud
Options :

| % a5l

Question Number : 155 Question Id : 9679472380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ it ome 5S cie 83 M Syl Jud
Options :

| % gl dad 3



Question Number : 156 Question Id : 9679472381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LR EE psn maFe

RO o [ 3 O e e : | L A3
.:u_rdmhnﬁ.drurg_)ﬁ.u.a#.m S A

Options :
| % Algfind e

2. % ].:5 Lo i~
3 @ :_;'...:.l J.u.....d

4 PAme pen

Question Number : 156 Question Id : 9679472381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N L ps e s =

RO - | [ i PP e : i ! 1 I A3
.f_u_rd.mhn_::.druru_)ﬂ.u.d#.m S i

Options :

7. % ].:S: A i

1 k|
1 e



4 Spags pen

Question Number : 157 Question Id : 9679472382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

folg pb o glas H.j,__"é,___.;:.‘_;,,.q il agela IS Ui Jile —_
Options :

| w Sadhe SO

) % LE s Jla

3 g e A€ Al

4 % el

Question Number : 157 Question Id : 9679472382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(o lp pb s gl S 8 0 e Joagete Slg e
Options :

GE e JIa

2. %



g% ol

Question Number : 158 Question Id : 9679472383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- ._-uS. 5 e L -_'i.‘]_;h g Al Jail o _,_n...'hlilll /,—Ig R l__un‘_:l.'o-\
Options :

1% S

2. & dama

Question Number : 158 Question Id : 9679472383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o€ AT 1S (o) e KAl Dl L e Bl s e Jud
Options :

% e

2. W e



Question Number : 159 Question Id : 9679472384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
”,.--—: ;I""'—r' |I-".-= .;,.,.5 _'. T "

ariil a5 68 S Dlia e aden WL A i

Question Number : 159 Question Id : 9679472384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
”,.-r—: ;""'-, ||_._.=_ ;,..S _‘:. "

IV o T [t 3 : - § | | LY

Options :

L et



4. % SIS

Question Number : 160 Question Id : 9679472385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 160 Question Id : 9679472385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4.+
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Group Marks :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
I would rather die borrow money from my friends.

Options :

1. # to

2. % from
3. % than

4. ® besides

Question Number : 161 Question Id : 9679472386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
I would rather die borrow money from my friends.

Options :

1. # to

2. % from
3. % than

4. ® besides

Question Number : 162 Question Id : 9679472387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Standing still  the river, I leaned the current slightly.
Options :

1. # on; against

2. % in; at

3. # by; to

4. ¥ in; against

Question Number : 162 Question Id : 9679472387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Standing still  the river, I leaned the current slightly.
Options :

1. * on; against

2. % in; at

3. # by; to

4. ¥ in; against

Question Number : 163 Question Id : 9679472388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She admitted being jealous that I had been successful in life.
Options :

1. ¥ rather

2. # fast

3. % safely

4. % gladly

Question Number : 163 Question Id : 9679472388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She admitted being jealous that I had been successful in life.
Options :

1. ¥ rather

2. # fast

3. % safely



4. % gladly

Question Number : 164 Question Id : 9679472389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Golf'is the game that [ am fond of.
Options :

1. * madly; abnormally
2. % usually, absolutely
3. # gainfully; hardly

4. ¥ hardly; inordinately

Question Number : 164 Question Id : 9679472389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Golf is the game that [ am fond of.
Options :

1. ¥ madly; abnormally
2. % usually, absolutely
3. % gainfully; hardly

4. ¥ hardly; inordinately

Question Number : 165 Question Id : 9679472390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you speak like that, the foreigners understand you at all.
Options :



1. ¥ won’t
2. % couldn’t
3. % wasn’t
4. # ought to

Question Number : 165 Question Id : 9679472390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you speak like that, the foreigners  understand you at all.
Options :

1. ¥ won’t

2. % couldn’t

3. % wasn’t

4. % ought to

Question Number : 166 Question Id : 9679472391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the option that has used a past perfect participle phrase.
Options :

1. ¥ I had fully understood what the teacher had said.

2. # [ have forgotten to bring my books.

3. % He had said he had been keeping his promise.

4. # [ am nauseous after my heavy dinner.

Question Number : 166 Question Id : 9679472391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the option that has used a past perfect participle phrase.
Options :



1. ¥ I had fully understood what the teacher had said.
2. # [ have forgotten to bring my books.
3. % He had said he had been keeping his promise.

4. # [ am nauseous after my heavy dinner.

Question Number : 167 Question Id : 9679472392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

He if he , but his hands are tied.
Options :

1. # did; had

2. % would; could

3. #* done; did

4. #* had; heard

Question Number : 167 Question Id : 9679472392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

He if he , but his hands are tied.
Options :

1. #* did; had

2. % would; could

3. #* done; did

4. # had; heard

Question Number : 168 Question Id : 9679472393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



I hear they the hill in this downpour?

Options :

1. # have climbed
2. % are climbing
3. # to climbing

4. # have climbing

Question Number : 168 Question Id : 9679472393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I hear they the hill in this downpour?

Options :

1. #* have climbed
2. ¥ are climbing
3. % to climbing

4. # have climbing

Question Number : 169 Question Id : 9679472394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

___ fireman shouted out that  staircase should be used for vacating the space.
Options :

1. % The; the

2. % No word required; No word required

3. % The; No word required

4. ¥ No word required; the

Question Number : 169 Question Id : 9679472394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

___ fireman shouted out that  staircase should be used for vacating the space.
Options :

1. ¥ The; the

2. ®# No word required; No word required

3. # The; No word required

4. ¥ No word required; the

Question Number : 170 Question Id : 9679472395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.
philosophy is complex and its scope is vast, but in Hindu belief, several paths talk about same solution to reach the Infinite.

Options :

1. # This; No word required
2. % The; the

3. % No word required; the
4. # The; No word required

Question Number : 170 Question Id : 9679472395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blanks.
philosophy is complex and its scope is vast, but in Hindu belief, several paths talk about same solution to reach the Infinite.

Options :

1. # This; No word required
2. % The; the

3. % No word required; the
4. # The; No word required



Question Number : 171 Question Id : 9679472396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

All tankers carrying oxygen have been hijacked by terrorists.
Options :
1. #* the; the

2. ¥ the; No word required
3. * No word required; No word required

4. ¥ No word required; the

Question Number : 171 Question Id : 9679472396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

All tankers carrying oxygen have been hijacked by terrorists.
Options :
1. #* the; the

2. ¥ the; No word required
3. ¥ No word required; No word required

4. ¥ No word required; the

Question Number : 172 Question Id : 9679472397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

I usually drive at speed of 110 kms hour.
Options :
1. # No word required; a

2. % an; an



3.¥ a;an

4. % a;a

Question Number : 172 Question Id : 9679472397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

I usually drive at speed of 110 kms hour.

Options :

1. #* No word required; a
2. % an; an

3.¥ a;an

4, % a;a

Question Number : 173 Question Id : 9679472398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

European resident with Ukrainian passport can enter India without a visa.
Options :
l1.¥ a;a
2. % anja
3. % an; an

4. % a;an

Question Number : 173 Question Id : 9679472398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

European resident with Ukrainian passport can enter India without a visa.



Options :
1.¥ a;a
2. % an;a
3. % an; an

4. ® 3;an

Question Number : 174 Question Id : 9679472399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Did you know that her daughter with her neighbour last night?
Options :

1. % vanished in

2. % leftin

3. * made it

4. % ran off

Question Number : 174 Question Id : 9679472399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Did you know that her daughter with her neighbour last night?
Options :

1. # vanished in

2. % leftin

3. % made it

4. ¥ ran off

Question Number : 175 Question Id : 9679472400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

His account of the achievements simply does not
Options :

1. # match it

2. % add up

3. % stick together

4. % depend on

Question Number : 175 Question Id : 9679472400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

His account of the achievements simply does not
Options :

1. # match it

2. % add up

3. # stick together

4. % depend on

Question Number : 176 Question Id : 9679472401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

During the debate, he exulted with the realisation that his opponent had

Options :

1. % totally lost

2. ¥ backed down
3. # beaten up

4. % won the game



Question Number : 176 Question Id : 9679472401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

During the debate, he exulted with the realisation that his opponent had

Options :

1. #* totally lost
2. ¥ backed down
3. % beaten up

4. % won the game

Question Number : 177 Question Id : 9679472402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The lack of police near the gate set off the bell at the police headquarters.
Options :

1. * door

2. % fire

3. ¥ alarm

4. * music

Question Number : 177 Question Id : 9679472402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The lack of police near the gate set off the bell at the police headquarters.
Options :
1. # door

2. % fire



3.4 alarm

4. * music

Question Number : 178 Question Id : 9679472403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The security guards checked the circuit feed carefully.
Options :

1. # closing

2. % closer

3. ¥ closed

4. % close

Question Number : 178 Question Id : 9679472403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The security guards checked the circuit feed carefully.
Options :

1. # closing

2. % closer

3. ¥ closed

4. % close

Question Number : 179 Question Id : 9679472404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Viscous



Options :

1. # Quiet
2. # Calm
3. % Watery
4. # Teary

Question Number : 179 Question Id : 9679472404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Viscous
Options :

1. # Quiet
2. % Calm
3. ¥ Watery
4. #® Teary

Question Number : 180 Question Id : 9679472405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Reliable
Options :

1. ¥ Trustworthy
2. % Stolid

3. % Dodgy

4. % Crooked

Question Number : 180 Question Id : 9679472405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate synonym of the given word.

Reliable
Options :

1. ¥ Trustworthy
2. % Stolid

3. * Dodgy

4. * Crooked

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :

Discipline5

10
967947120
0

120

No

No

0

20

No

Discipline5

967947120
1

Online
Mandatory
16

16

20

Yes



Sub-Section Id : 967947145
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679472406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Endearing
Options :

1. % Slim

2. % Captivating
3. % Enriched
4. % Dull

Question Number : 181 Question Id : 9679472406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Endearing
Options :

1. # Slim

2. ¥ Captivating
3. % Enriched
4. % Dull

Question Number : 182 Question Id : 9679472407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Flourish
Options :



1. ¥ Make
2. % Build
3. ¥ Brandish
4. #® Break

Question Number : 182 Question Id : 9679472407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Flourish
Options :

1. # Make

2. ® Build

3. % Brandish
4. * Break

Question Number : 183 Question Id : 9679472408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

It’s simply not to ask your son to pick up the
Options :

1. * fair; fair

2. ¥ fair; fare

3. % fare; fare

4. ® fare; fair

Question Number : 183 Question Id : 9679472408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.



It’s simply not to ask your son to pick up the
Options :

1. # fair; fair

2. ¥ fair; fare

3. ® fare; fare

4. # fare; fair

Question Number : 184 Question Id : 9679472409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom to fill in the blank.

Neha was by her management team after she lodged a complaint against her boss.
Options :

1. # cutout

2. % left out in the cold

3. # arolling stone

4. # Kkicked the bucket

Question Number : 184 Question Id : 9679472409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom to fill in the blank.

Neha was by her management team after she lodged a complaint against her boss.
Options :

1. # cutout

2. ¥ left out in the cold

3. # arolling stone

4. % kicked the bucket

Question Number : 185 Question Id : 9679472410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

Beware of bearing gifts.
Options :

1. # strangers

2. # enemies

3. # foreigners

4. ¥ Greeks

Question Number : 185 Question Id : 9679472410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

Beware of bearing gifts.
Options :

1. # strangers

2. # enemies

3. % foreigners

4. ¥ Greeks

Question Number : 186 Question Id : 9679472411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

The best is the of the good.
Options :

1. ¥ enemy

2. # friend

3. % opposite



4. % father

Question Number : 186 Question Id : 9679472411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

The best is the of the good.
Options :

1. ¥ enemy

2. % friend

3. % opposite

4. # father

Question Number : 187 Question Id : 9679472412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

It’s all to the mill.
Options :

1. # hay

2. * men

3. % cows

4. ¥ grist

Question Number : 187 Question Id : 9679472412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

It’s all to the mill.
Options :



1. # hay

2. % men
3. % cows
4. ¥ grist

Question Number : 188 Question Id : 9679472413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Selvedge

2. # Maehem

3. # Titewlar

4. % Sacreficial

Question Number : 188 Question Id : 9679472413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Selvedge

2. % Maehem

3. ® Titewlar

4. % Sacreficial

Question Number : 189 Question Id : 9679472414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Deductable

2. # Diductible



3. " Deductible
4. % Didectible

Question Number : 189 Question Id : 9679472414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Deductable

2. # Diductible

3. % Deductible

4. # Didectible

Question Number : 190 Question Id : 9679472415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Omnescence

2. % Omnisceince

3. % Omniseince

4. % Omniscience

Question Number : 190 Question Id : 9679472415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Omnescence

2. # Omnisceince

3. % Omniseince

4. % Omniscience



Question Number : 191 Question Id : 9679472416 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.
Options :

1. ® That arrogant guy in no time cut to the boss.

2. % In no time that arrogant guy to cut the boss size.

3. ¥ The boss cut that arrogant guy to size in no time.

4. ® That arrogant boss to cut the guy in size no time.

Question Number : 191 Question Id : 9679472416 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.
Options :

1. # That arrogant guy in no time cut to the boss.

2. # In no time that arrogant guy to cut the boss size.

3. % The boss cut that arrogant guy to size in no time.

4. % That arrogant boss to cut the guy in size no time.

Question Number : 192 Question Id : 9679472417 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.
Options :

1. ¥ Chris could not believe he had been run out at 98 runs.

2. # Chris is not believe how he is run outing at 98 runs.

3. % Chris is not believing how he is running out at 98 runs.

4. ® Chris is too much belief that he will run out at 98 runs.

Question Number : 192 Question Id : 9679472417 Question Type

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.
Options :

1. ¥ Chris could not believe he had been run out at 98 runs.

2. # Chris is not believe how he is run outing at 98 runs.

3. ® Chris is not believing how he is running out at 98 runs.

4. ® Chris is too much belief that he will run out at 98 runs.

Question Number : 193 Question Id : 9679472418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.

Options :

1. ¥ 1 had not meant to hurt her, but unavoidable circumstances led to the tragedy.

2. # The tragedy had not meant to hurt her but my led unavoidable circumstances.

3. # Unavoidable circumstances led to her tragedy, however but I do not mean to hurt her.

4. ® To hurt her I does not want but the unavoidable circumstances led out to tragedy.

Question Number : 193 Question Id : 9679472418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically correct sentence from the given options.

Options :

1. ¥ 1 had not meant to hurt her, but unavoidable circumstances led to the tragedy.

2. % The tragedy had not meant to hurt her but my led unavoidable circumstances.

3. ® Unavoidable circumstances led to her tragedy, however but I do not mean to hurt her.

4. ® To hurt her I does not want but the unavoidable circumstances led out to tragedy.

Question Number : 194 Question Id : 9679472419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Whatever you say now, I cannot believe you any longer.
Options :

1. * never

2. # hardly

3. % crossly

4. ¥ simply

Question Number : 194 Question Id : 9679472419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Whatever you say now, [ cannot believe you any longer.
Options :

1. * never

2. % hardly

3. % crossly

4. ¥ simply

Question Number : 195 Question Id : 9679472420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Her rendition of Raag Bhagyashree the audience.
Options :

1. % crazed

2. ¥ mesmerised

3. # unsung

4. % moving



Question Number : 195 Question Id : 9679472420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Her rendition of Raag Bhagyashree the audience.
Options :

1. * crazed

2. ¥ mesmerised

3. * unsung

4. * moving

Sub-Section Number : 2
Sub-Section Id : 967947146
Question Shuffling Allowed : Yes

Question Id : 9679472421 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

Read the given passage and answer the questions that follow.

Too often, says Professor Uccelli, students learn about language in isolation, memorising vocabulary in one lesson and studying grammar and
sentence structure in another. Of course, students need to understand technical terms — ‘isotope’ in a chemistry textbook, ‘colonise’ in a history
article — but this knowledge is insufficient if students don’t understand how pieces of language relate to each other to create meaning.
Elsewhere, Uccelli showcases the difficulties that academic texts can pose for students by quoting from a passage:

The scientific agreement today is that Earth’s surface temperatures have increased in recent decades. Moreover, most scientists agree that it is
extremely likely that humans are causing this problem through activities that increase concentrations of greenhouse gases.

To understand the text, students have to know the definitions of ‘greenhouse gases’ and ‘concentrations’. But those clarifications won’t elucidate
the whole passage: Students also need to understand that ‘this problem’ refers to increasing surface temperatures, and that ‘moreover’ signifies
that the second sentence builds on the first.

Knowing how to unlock these connecting concepts is particularly important when reading academic texts, which use language far differently than
we use it as speakers. When we talk through complicated subjects, we can use simple sentence structures, aided by tools such as hand
movements, intonation and enactment. But, when there are only words on a page to explain these ideas precisely and concisely, the language
structures often get complex and students can grow confused when faced with these dense constructions. Paradoxically, the academic language
features meant to support precise communication can obstruct comprehension if readers are unfamiliar with them.

Sub questions

Question Number : 196 Question Id : 9679472422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage states that Earth is getting hotter. What, according to scientists, is chiefly responsible for this increase of temperature?
Options :

1. ¥ All activities by humans have contributed to Earth getting hotter.

2. # The rampant mining and burning of coal has made Earth hotter.

3. % The drying up of rivers because of dams and farming has made Earth hotter.

4. ® The use of nuclear reactors to produce energy has made Earth hotter.

Question Number : 197 Question Id : 9679472423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the writer trying to establish as the key to education in the first two paragraphs?

Options :

1. ¥ That holistic education of language aids in understanding the interconnectedness of difficult concepts
2. # That students of today are overwhelmed with academics and its various ramifications

3. % That languages have to be simpler in order to be comprehensible to students

4. # That students can no longer understand what the different teachers tell them

Question Number : 198 Question Id : 9679472424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What makes it easier for us to understand a person talk about a subject than read about it?

Options :

1. # We like to see and hear a person than read difficult textbooks, as learning is first through the aural path in humans.

2. ¥ During talking, our body movements, gestures, tone of voice and choice of words makes it easier for students to grasp concepts.
3. % Talking allows teachers to expand on a topic and simplify it, thus allowing a student to relate to it via his own mental perception.

4. % Human beings are hardwired in the brain to talk continuously, and therefore language and literature is such a vast subject.

Question Number : 199 Question Id : 9679472425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What do you infer is the writer’s tone in the given passage?



Options :

1. % Playful

2. ¥ Analytical
3. % Angry

4. ® Critical

Question Number : 200 Question Id : 9679472426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the given passage means ‘presentation’?
Options :

1. # Elucidate

2. % Intonation

3. # Concise

4. ¥ Enactment

Question Id : 9679472421 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

Read the given passage and answer the questions that follow.

Too often, says Professor Uccelli, students learn about language in isolation, memorising vocabulary in one lesson and studying grammar and
sentence structure in another. Of course, students need to understand technical terms — ‘isotope’ in a chemistry textbook, ‘colonise’ in a history
article — but this knowledge is insufficient if students don’t understand how pieces of language relate to each other to create meaning.
Elsewhere, Uccelli showcases the difficulties that academic texts can pose for students by quoting from a passage:

The scientific agreement today is that Earth’s surface temperatures have increased in recent decades. Moreover, most scientists agree that it is
extremely likely that humans are causing this problem through activities that increase concentrations of greenhouse gases.

To understand the text, students have to know the definitions of ‘greenhouse gases’ and ‘concentrations’. But those clarifications won’t elucidate
the whole passage: Students also need to understand that ‘this problem’ refers to increasing surface temperatures, and that ‘moreover’ signifies
that the second sentence builds on the first.

Knowing how to unlock these connecting concepts is particularly important when reading academic texts, which use language far differently than
we use it as speakers. When we talk through complicated subjects, we can use simple sentence structures, aided by tools such as hand
movements, intonation and enactment. But, when there are only words on a page to explain these ideas precisely and concisely, the language
structures often get complex and students can grow confused when faced with these dense constructions. Paradoxically, the academic language
features meant to support precise communication can obstruct comprehension if readers are unfamiliar with them.

Sub questions



Question Number : 196 Question Id : 9679472422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage states that Earth is getting hotter. What, according to scientists, is chiefly responsible for this increase of temperature?
Options :

1. ¥ All activities by humans have contributed to Earth getting hotter.

2. # The rampant mining and burning of coal has made Earth hotter.

3. % The drying up of rivers because of dams and farming has made Earth hotter.

4. ® The use of nuclear reactors to produce energy has made Earth hotter.

Question Number : 197 Question Id : 9679472423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the writer trying to establish as the key to education in the first two paragraphs?

Options :

1. ¥ That holistic education of language aids in understanding the interconnectedness of difficult concepts
2. # That students of today are overwhelmed with academics and its various ramifications

3. % That languages have to be simpler in order to be comprehensible to students

4. # That students can no longer understand what the different teachers tell them

Question Number : 198 Question Id : 9679472424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What makes it easier for us to understand a person talk about a subject than read about it?

Options :

1. # We like to see and hear a person than read difficult textbooks, as learning is first through the aural path in humans.

2. ¥ During talking, our body movements, gestures, tone of voice and choice of words makes it easier for students to grasp concepts.
3. % Talking allows teachers to expand on a topic and simplify it, thus allowing a student to relate to it via his own mental perception.

4. % Human beings are hardwired in the brain to talk continuously, and therefore language and literature is such a vast subject.

Question Number : 199 Question Id : 9679472425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What do you infer is the writer’s tone in the given passage?
Options :

1. # Playful

2. % Analytical

3. % Angry

4. % Critical

Question Number : 200 Question Id : 9679472426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the given passage means ‘presentation’?
Options :

1. # Elucidate

2. % Intonation

3. % Concise

4. ¥ Enactment



